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FAEEE JFOKEIRARERL (515 H)

A H H suieprcigr) | 4H19H| 5H10H 7H5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H 2H7H SHTH|  Hes A I 1CIF
SR — 21.3 18.8 25.2 26.3 25.0 22.5 21.9 24.3 27 18.8 23.0 12
ZKfE — 7.4 10.4 21.2 20.6 13.9 9.7 3.9 5.5 21.2 3.9 12.8 12
W = 100/ 1mlLL 17 11 41 320 150 49 11 11 320 9 73 12
2 [ KI5 i BHTA BINTD Bl BT S| Bidal Bl BHTS| BINTD BHLew] Bl al i A Bl BRI s 12
3 RIT LR O EDILE Y 0.003mg/1L4 F - 0.0003 4l - 0.0003A4ifi - - 0.00034ifi - 0.0003 41l - 0.000347i|  0.0003Ai|  0.0003 A3 4
A|KER K O DB 0.0005m /121 T B 0.00005 il - 0.00005 il - - 0.00005 41 - 0.00005 4 - 0.000054iii| 0.000054i| 0.00005 41 4
R, 5| EL R OED(LEY 0.01mg/12LF - 0.001 At - 0.00 1 A - - 0.00 1 A - 0.00 1 A - 0.001K4m| 0.00174#| 0.001 A 4
6|60 K O EDALEW 0.01mg/ILLF - 0.004 - 0.003 - - 0.002 - 0.001 - 0.004 0.001 0.003 4
=302 n=x 7] 0.01mg/1LL F - 0.001 A - 0.001 A - - 0.001 A5 - 0.001 A7 - 0.001A43#| 0.001K4#| 0.001 A 4
8|Sz a O ED LS 0.02mg/1EL F - 0.002 A7 - 0.002 A7 - - 0.002 A - 0.002 A7 - 0.002743#|  0.0025K4i|  0.002 i 4
o HE hi e RE 25 35 0.04mg/1LL F - 0.004 Aili - 0.004 Al - - 0.004 Al - 0.004 A - 0.004A7ii|  0.004AKdw|  0.004AKil 4
SR 10 V7V4t4@4ﬁy&wlﬁ{!5y7y 0.01mg/1LLF - 0.001 A i - 0.001 A i - - 0.001 A ¥ - 0.001 Aji - 0.001K4m| 0.001744#| 0.001 &Kl 4
%%ﬁE'Jﬁiﬁi% 11| A PATE ZE 3% M OV PR AR 28 57 10mg/1L4 F - 0.1 - 0.1 - - 0.2 - 0.2 - 0.2 0.1 0.2 4
e 12| 7 v FE R OFEDILEY 0.8mg/1LL F - 0.08 A - 0.08 A - - 0.08 A - 0.08 A - 0.08A0|  0.084|  0.085Ki 4
e 13|V F#E L OZDILEY 1.0mg/18) F - 0.02 A - 0.02 A - - 0.02 A - 0.02 A - 0.0240|  0.0240|  0.02K7H 4
e 14| DUsE{b R 3E 0.002mg/1L0 T - 0.0002 A5 - 0.0002 A5 - - 0.0002 A5 - 0.0002 A5 - 0.0002A45 | 0.000245 | 0.0002 A7 4
[£5] 151,404 %9 0.05mg/1LL F - 0.005 i - 0.005A - - 0.005A i - 0.005 A - 0.00547i | 0.005Awi [ 0.005 4 4
JH 16|x712-v7mnmF Ly KUY A-12-2ymmF Lo 0.04mg/1LL F - 0.004 Aili - 0.004 Aili - - 0.004 Aili - 0.004 A1 - 0.004A7|  0.004AKw|  0.004 Al 4
EREEys 7Ly 17| yama s 0.02meg/1LL F - 0.002K: 1 - 0.002 A1 - - 0.002 A1 - 0.002 A1 - 0.0025K7#|  0.0025K0#|  0.0025kKiis 4
’é 18| 7 Moy T L 0.01mg/1LLF - 0.001 Al - 0.001 Al - - 0.001 At - 0.001 A1l - 0.001 4| 0.001AIifi| 0.001 A 4
A 19|k /o ocFL 0.01mg/1LL F - 0.001 At - 0.00 1 Al - - 0.00 1 Al - 0.00 1 A - 0.001&4m| 0.001A44#| 0.001 Al 4
R 20[~ B 0.01mg/1LL F - 0.001 A i - 0.001 A - - 0.00 1 A - 0.00 1 A - 0.001 K| 0.00174#| 0.001 &K’ 4
21| M FEE 0.6mg/1LL - - - - - - - - - - - - - -
22| 7 fERE 0.02meg/1LL T - - - , - — — ~ - — —
23|77V 0.06mg/124 F - - - - - - - - - - - - - -
24| fFElg 0.03mg/124 - - - - - - - - - - - - - -
25|V 7 aEranAy 0.1mg/1LL F - - - - - - - - - - - - - -
Rl | 26| R g 0.01mg/1LL T - - - - - - - - - - -
27 [ A% 0.1mg/ILA K - - - - - - - - - - - - - -
28|~V 7 e fifg 0.03mg/1L4 F - - - - - - - - - - - - - -
Pl A=t a=1=5 3 4 0.03meg/1LL F - - - - - - - - - - -
307 aEAULL 0.09mg/1LL F - - - - - - - - - - - - - -
31T LT ER 0.08mg/1LL F — - - - - - - - - - - - - -
32[Hen R O FDILEW 1.0mg/1LL F - 0.02 - 0.01 - - 0.01 A - 0.01 - 0.02]  0.01Kjm 0.01 4
33| TN B NFDILE W 0.2mg/14L F - 0.18 - 0.15 - - 0.04 - 0.03 - 0.18 0.03 0.10 4
TR 34 ﬁ&u‘:%a)ﬂg/a\% 0.3mg/1LL F - 0.22 - 0.24 - - 0.14 - 0.13 - 0.2 0.13 0.18 4
35[$i M NEDILED) 1.0mg/1LL F - 0.01 A - 0.01 A - - 0.01 A - 0.01 A - 00140 0.0140M|  0.01 K1 4
36[F NIV LR ZDILEY 200mg/1LL F - 3.9 4.9 - - 4.6 - 4.7 - 4.9 3.9 4.5 4
37| = AR OZEDILEY 0.05mg/18 F - 0.019 - 0.048 - - 0.042 - 0.035 - 0.048 0.019 0.036 4
Z DA, 38|k A A 200meg/1LL T 6.1 4.8 4.3 5.1 3.8 5.6 7.1 6.4 7.1 3.8 5.3 12
IR 39| I L= SR L (L) | 300mg/1LF - 17 - 14 - - 16 - 15 - 17 14 16 4
Z i, 40| 7K FEFR AW 500me/1L4F - 55 - 50 - - 56 - 61 - 61 50 56 4
41|BaA A FomiE A 0.2mg/18L F - 0.02 445 - 0.02 A1 - - 0.02 A1 - 0.02 A7 - 0.02A4Mi|  0.02K0i|  0.02K7il 4
42 :/:1:71’1\:/ 0.00001mg/1LLF — - 0.000001 A [ 0.000001 A7 | 0.000001 Aiifii | 0.00000 1 A — — - - 0.000001 A7 | 0.000001 | 0.00000 1 Aifi 4
Ay T 43|2— AF LA VIR LR — )L 0.00001me/IEL F - - 0.000001 7] 0.000001 i | 0.000001 i - - - - 0.000001 75 | 0.000001 7| 0.00000 1 il 4
H 44| FEA A S wEE PR 0.02mg/1LL F - 0.005 i - 0.005 A - - 0.005 A - 0.005 A - 0.0054i|  0.0054i| 0.005 A 4
45|77 = ) — )VFH 0.005mg/1LL T - 0.0005 A5 - 0.0005 A5 - - 0.0005A 35 - 0.0005 A3 - 0.0005A45 | 0.0005A4w | 0.0005 A 4
A6 | H R (AR  TOC) 3mg/ILLF 0.6 0.7 2.2 1.7 1.7 1.4 0.8 1.4 2.3 0.6 1.3] 12
47(pH 5.8~8.6 6.9 7.0 6.9 6.9 7 6.9 6.9 6.8 7.2 6.8 6.9] 12
48|14 - - - - - - - - - - - - - -
Z At 49| LA REAL| WAL LEZeL | WEZRL| WAL REelL| O REZelL| EEARL el WAL el Rl REsL| 12
50| 5 10 12 19 9.5 12 15 8.3 9.8 19 8.3 12| 12
51 [V 10 12 9.4 2.0 4.9 6.2 3.3 7.0 12 2.0 71 12




TRAEE JFUOKERARR OKEEH HEREER)

AT IE H B AZ 5 wipz| 4A19@| sA10R|  6ATH| 7AsA|  8A2A| 9Aen| 10A4m| 11ASA[ 12A6n| 1A10A|  2A7TA|  SATA[ R A% RER TS
TUF RV R OEDOEY 0.02mg/1LL F | mg/1 0.00157 0.001554if5 0.0015Ai 0.0015Ai 0.00155 | 0.00155K0# | 0.00157 4
072 R OEDLE) 0.002mg/1LL F(EE) [ me/1 - 0.0002K: - - 0.00024%# - - 00002 - - 0.00024 - 0.00024H | 0.0002%# | 0.0002d | 4
=T NVREDILAE Y 0.02mg/1LL F | mg/1 - - - - - - - - - - - - - - - -
1,2-v7anxiy 0.004mg/1LA F | mg/1 - - - - - - - - - - - - - - - —
[N 0.4mg/1LLF | mg/1 -
THEY (2-F )LnF L) 0.08mg/1LA T | mg/1 - 000541t - - 0.005Ait - - 0005473t - - 0.0054Titf - 0.0054% | 0.00544# | 0.005A%5 | 4
[ d 0.6mg/12L | mg/1 - - - - - - - - - - - - - - - -
bR 0.6mg/12L | mg/1 - - - - - - - - - - - - - - - -
P4=i=ya SN2 0.01mg/1LL FCE &) | mg/1 - - - - - - - - - - - - - - - —
ka7 —u 0.02mg/1LA F(EE) | mg/1 - - - - - - - - - - - - - - - -
=28 e BFEO o FELTLELF - - 00144 - 0.01 41 - - - - - - - 0.0LATM | 00144 | 00140 [ 2
PR 1mg/1LL T | mg/1 - - - - - - - - - - - - - - - -
TN I =T T W (T ) 10mg/124 :100mg/1LL F| mg/1 - - - - - - - - - - - - - - - —
< H R OEDOLEY 0.01mg/1LAF | mg/1 - - - - - - - - - - - - - - - —
W R 20mg/1LLF | mg/1 —
1,1,1-NZaaxz 0.3mg/1LLF | mg/1 - 0.001 A - - 0.001 A - - 0.001 A - - 0.001 At - 0.00141 | 0.001A44# | 0.0015 4
AF )L—t=7 F )L=—F )L (MTBE) 0.02mg/12LF | mg/1 - - - - - - - - - - - - - - - —
H % 3mg/1LL | mg/1 - - - - - - - - - - - - - - - —
AU EE (TON) 3LUF -
FRIETRREW 30mg/1Lk 1:200mg/12AF | mg/1 - - - - - - - - - - - - - - - -
I LELLF| B - - - - - - - - - - - - - - - -
pH{E 7. SRR - - - - - - - - - - - - - - - -
&N (T 7T Fa ) —1REELEN0ITES1TS - - - - - - - - - - - - - - - -
a3 ) ImlORA TIERENDEHFHA 2000 L4 F () - - - - - - - - - - - - - - - —
1,1-Y7anxFLyv 0.1mg/1LAF | mg/1 - 0.00 1At - - 0.00 1At - - 0.00 LAt - - 0.00 1At - 0.001Ai | 0.001A4# | 0.001Ai 4
TNR=D LR OZFDLEY 0.1mg/1LLF | mg/1 - - - - - - - - - - - - - - - -




TRIAEE  JFKABE ARG R OKE S P B AR RBOE

o=

HA ()

MEIEH FAZfE |#nr| 44198 | 54108 | 6H7H TH5H 8H2H 9H6H 10448 | 11A8H | 12A6H | 1A10H | 2A7H 3ATH IR A% eI 1EE:S
1,3-Y7aarr~r (D—D) 0.05mg/1{mg/1 - - 0.0005 A5 - 0.0005 i - - - - - - - 0.00054#|  0.0005K|  0.0005K7| 2
T 77—k 0.006mg/1{mg/1 - - 0.00006 A - 0.00006 Aiif§ - - - - - - - 0.00006Ai| 0.00006Ai| 0.00006Adi| 2
A7 aF 47 (IPT) 0.3mg/1{mg/1] - - 0.003 A - 0.003 K - - - - - - - 0.0034#|  0.0034]|  0.003K| 2
27l 0.03mg/1{mg/1 - - 0.0003 Ajif§ - 0.0003 A - - - - - - - 0.0003A | 0.0003 K4 | 0.0003Adi | 2
ZURH—k 2mg/1|mg/1 - - 0.024 - 0.024i - - - - - - - 0024 0024 0.024 | 2
s =)L (TPN) 0.05mg/1{mg/1 - - 0.0005 Al - 0.0005 A1 - - - - - - - 0.00054 | 0.0005A | 0.0005A4w | 2
vy (DCMU) 0.02mg/1{mg/1 - - 0.0002 A - 0.0002 At - - - - - - - 0.0002A4|  0.00025K4|  0.00025Ki| 2
Yr7u~_=,L (DBN) 0.03mg/1{mg/1 - — 0.0003 A5 - 0.0003 A3 - - - - - - - 0.0003A4w |  0.0003Kj#| 0.0003Kii| 2
U9k 0.01mg/1{mg/1 - - 0.000 1 A - 0.0001 A - - - - - - - 0.0001 4[| 0.0001K3|  0.0001K7| 2
PRIRR (=F LF A AR 0.004mg/1{mg/1 - - 0.00004 A3 - 0.00004 A - - - - - - - 0.00004 A4 | 0.00004A7#| 0.00004Ki| 2
HAT IV 0.003mg/1{mg/1 - - 0.00003 A - 0.00003 A1 - - - - - - - 0.00003 [ 0.000034#| 0.00003Ai| 2
L FON=V 0.8mg/1{mg/1 - - 0.008 A - 0.008 i - - - - - - - 0.0085K4|  0.0085i|  0.008Ki| 2
FF R HNT 0.02mg/1|mg/1 - - 0.0002Ajif5 - 0.0002 A - - - - - - - 0.00024 | 0.0002K4w | 0.0002A | 2
Nz (DEP) 0.005mg/1{mg/1 - - 0.00005 i - 0.00005 i - - - - - - - 0.000057 [ 0.0000544# | 0.0000543| 2
Jrx=paF I (MEP) 0.01mg/1|mg/1 - - 0.0001 Al - 0.0001 A - - - - - - - 0.0001A% | 0.0001A |  0.0001A | 2
T5HPAR 0.1mg/1{mg/1 - - 0.00 1 A - 0.001 i - - - - - - - 0.001A45]|  0.0014]|  0.001K%| 2
TLFTra—)b 0.05mg/1{mg/1 - - 0.0005 A5 - 0.0005 A - - - - - - - 0.00054# |  0.00054%w | 0.0005AE | 2
FaF S — L 0.03mg/1{mg/1 - - 0.0003 s - 0.0003 i - - - - - - - 0.0003A4#|  0.0003Ki| 0.0003Ki| 2
2 % 0.2mg/1|mg/1 - - 0.002 A - 0.002 A - - - - - - - 0.002 A 0.002 A 0.002A40 [ 2
ATz F ok 0.02mg/1{mg/1 - - 0.0002 A - 0.0002 A - - - - - - - 0.00024# | 0.00025K3 | 0.00025K7 | 2
THAFE FAKERERRE (VT FRARI TN - DTITT)

mATE H anon| saon| enra| 7asa| smaza| 9men| 10m4n| 1asa| 12a6a| vi0r| 2a7A| sATE| &E | R | oy | o
ZUZ P ARY D 2 (B ]/ 200) - - 0 - - - - - 0 - - - 2
T YT (BALAE/200) - - 0 - - - - - 0 - - - 2
TIAERE  FAKKBERERR ()

MR IE H 4190 sA10n| 6A7A| 7AsH| sH2E| onen| 1084n| nasn| 1286m| 1A0R| 2A7A| spTR| AEm | R | v | Ex
RN B (HEAZ : MPN/100ml) 2 -2 -(l9 [ -f[o [ -f1w]-1]10]- 10 4
B SUPER (B : CFU/100ml) 0 - 0 - 0 - 0 - 3 - 0 - 3 1
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AFNAFRE HKKE AR (51IEE)
oY= SEYE(E 4H19H| 5H10H 6HTH 7TH5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H| 1HI10H 2H7H SHTH| fed A |
SR — 21.3 18.8 19.3 24.2 25.2 27.0 26.3 25.0 22.5 20.5 21.9 24.3 27 18.8 23.0 12
K — 7.4 10.3 17.1 18.2 22.1 21.7 20.8 14.0 10.0 4.1 3.9 5.3 22.1 3.9 12.9 12
o 1| fesm s 100/ 1m1Ll F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 12
BNz fsicce | OIHLZRV] BHLZe[ BREHLZ20 ) BiL o] BREHLZewy] B L7 BB LZewn] BEHLZ0v ) Bl Zen] BREHLZeuy] L7 BHLZeu ) BEHLZev ) Bl Zew] Bl zewy] 12
3|HRIV LK RZEDLED 0.003me/18LF - 0.00035iit - — 0.00035it - — 0.00035it - — 0.00035iit - 0.000354i|  0.0003571|  0.00034i# 4
4 KR K ONF D& 0.0005meg/1L1 F - 0.00005 A - - 0.00005 A - - 0.00005 i - - 0.00005 4 - 0.0000544ii| 0.000055iii| 0.00005 it 4
o 5| L R OZEO(LEY 0.01mg/14L F 0.001 A 0.00 1 A 0.00 1 A 0.001 A 0.001A7mi[ 0.001Ki0M] 0.001 A4 4
6|8 M FDILEY 0.01meg/1LL T - 0.001 A - - 0.001 A - - 0.001 A7 - - 0.001 A - 0.0017| 0.0015k5%| 0.00155H 4
T|eE L OZDILEY 0.01mg/1LL F - 0.001 A - - 0.001 A - - 0.001 A - - 0.001 A - 0.001A7Mi|  0.00144m]  0.001 A 4
8l Al v OIS 0.02mg/1LL F - 0.002 A7l - - 0.002 A7l - - 0.002A7il - - 0.002 A7l - 0.00243|  0.00254i|  0.002 5K 4
o|mnyeTE R 0.04meg/1LL 0.004 A 0.004 A 0.004 A 0.004 A 0.00440m| 0.0045Ki0i| 0.004 A 4
TR 10 -‘/T‘/{Is%4ﬂ“/£f<tﬁifl1tf/7‘/ 0.01mg/1LL F - 0.001 A - - 0.001 A - - 0.001 A - - 0.001 A - 0.001 7| 0.00144]  0.001 A 4
%gﬁﬁl]ﬂiﬁji% 11| AYERREZ2 32 K OVHl R iR RE 22 35 10mg/1LL T - 0.2 - - 0.1 - - 0.2 - - ofz - 0:2 0;1 ofz 4
i 12|73 R DAY 0.8mg/1LL T 0.08 A 0.08 A il 0.08 il 0.08 A it 0.08 il 0.08 A il 0.08 A il 4
e 13| £ K L DILEY 1.0mg/1LA F 0.02 A7 0.02 A7 0.02 A3 0.02 A3 0.0245m|  0.024%m|  0.02747 4
1z 14| PO IR 3R 0.002me/1LLF - 0.0002 A5 - - 0.0002 A5 - - 0.0002 A7 - - 0.0002 A5 - 0.000254#|  0.000271|  0.000254# 4
B 151,40 F%9 0.05mg/1LL - 0.005 A5 - - 0.005 A5 - - 0.005 A5 - - 0.005 A5l - 0.0054#|  0.00554#i|  0.0055KiH 4
pL2) 16|v=-12-vrmaxsLr ORIy A-12-v7mE=F L 0.04mg/1L T 0.004 A:Fifs 0.004 A7l 0.004 A7 0.004 A7l 0.004##|  0.00455i |  0.004 K7 4
ENECT 27k 17| rmarz 0.02mg/ILL F 0.0025K it 0.0025Ki5 0.002Ki5 0.0025K 5 0.0025K7#| 0.0025K7#[ 0.0025%0H 4
& 18| 7 hFrma I L 0.01mg/ILL T - 0.001 A - - 0.001 A - = 0.001 i - - 0.001 A - 0.001 7| 0.0015KIiff| 0.001 A 4
" 19{r) T 0.01mg/1LL F - 0.001 A - - 0.001 A - - 0.001 A - - 0.001 A - 0.0014{m[ 0.0015K0M#| 0.001 4 4
H 20|~ B 0.01mg/ILLF 0.001 A 0.001 A 0.001 A 0.001 A 0.00147m[ 0.0015KiM| 0.001 4 4
21| ¥a FHiE 0.6mg/ILLF - 0.05 - - 0.11 - - 0.07 - - 0.05 - 0.11 0.05 0.07 4
BT 0.02me/ I T - 0.001 i - - 0.001 £l - - 0.001 i - - 0.001 £ - 0.001544#| 0.0015kim| 0.0015ki#| 4
23|7vuduL s 0.06mg/1LL F - 0.002 - 0.008 0.013 0.014 0.015 0.010 - - 0.002 - 0.015 0.002 0.009 7
24| 7o alkg 0.03mg/ILA T 0.002 0.010 0.007 0.002 0.01 0.002 0.005 4
b Brd=EA=1=F . 0.1mg/1LL F - 0.001 - 0.001K7i5] 0.001 i 0.001 0.001 0.001 - - 0.002 - 0.002| 0.0015¥i| 0.001 4’ 7
4 77 A R 26| 5L RIR 0.01mg/1LL F - 0.001 A5 - - 0.001 A5 - - 0.001 A5 - - 0.001 A5 - 0.00143m|  0.00143m]  0.001 A5 4
27 R N Az 0.1mg/1LL F - 0.005 - 0.012 0.018 0.020 0.022 0.016 - - 0.006 - 0.022 0.005 0.014 7
28|~ 7w a ERR 0.03mg/1LL F - 0.001 A - - 0.011 - - 0.008 - - 0.001 - 0.011] 0.001 A7 0.005 4
29| 7 uEYrun AR 0.03mg/1LL T - 0.002 - 0.004 0.005 0.005 0.006 0.005 - - 0.002 - 0.006 0.002 0.004 7
30| 7 wEAFLL 0.09mg/1L4 F - 0.001 A - 0.00 1AM 0.001Ki#] 0.0014i#| 0.0014dm| 0.001Ki - - 0.001 A - 0.001Am| 0.001K4#| 0.001 i 7
31|ALLT LT R 0.08mg/1LL T - 0.001 A - - 0.002 - - 0.001 - - 0.001 A - 0.002| 0.001Kfii| 0.001Kii 4
32| High e NZE DB 1.0mg/1LL F - 0.0 1 A - - 0.01 A - - 0.01 A3 - - 0.01 A - 0.01AJM|  0.01AKi|  0.01 K 4
33| TS B EOALEW 0.2mg/1LL F - 0.0 1 AK:J - - 0.02 - - 0.01 - - 0.01 A - 0.02] 0.01KTii] 0.014m 4
& |sepeme 34RO Z DAY 0.3mg/1LLF - 0.03 K0 - - 0.03 A1 - - 0.03 A1 - - 0.03 A1 - 0.0340m|  0.035Ki]  0.03Ai 4
| 35|} DAY 1.0mg/IA T - 0.01 A4 - - 0.01 A - - 0.0 1A - - 0.0 1A - 0.014%#|  0.014[  0.014im| 4
7K 36| FIT L NZEDILEY 200mg/1L4 F - 7.4 - - 9.6 - - 7.2 - - 8.0 - 9.6 7.2 8.1 4
3 3= T B OZEDILEY 0.05mg/1LL F 0.005 A7l 0.005 A7l 0.005 A 0.005 A7l 0.00543#|  0.0053|  0.005 K1 4
GRE 38| kA A 200mg/1LL F 8.0 8.2 8.5 8.6 8.5 9.1 7.8 8.0 8.5 7.9 8.6 8.5 9.1 7.8 8.4 12
RN 39| L A= o 20 (EEE) | 300me/E B 9.7 - - 13 - - 15 - - 15 - 15 9.7 13 4
: ZDAth 140|785 W 500mg/1L4 - 55 - - 69 - - 61 - - 56 - 69 55 60 4
o 41| BaA A R iE TR 0.2mg/ILL F 0.02 A4 0.02 A7 0.02 A7 0.02 i 0.02K7m|  0.025K3|  0.02547i 4
E 42 ;/;x;ﬁ‘xi/ 0.00001mg/1LL T — — - 0.000001 A 0.000001 Aiiii| 0.000001 AHifi| 0.000001 A — — - - — 0.000001 i | 0.000001 Aiii| 0.000001 A 4
- 432 — AF LA VR IV F A — )L 0.00001me/IEA T — - - 0.000001 Ai#] 0.000001 4| 0.000001 35| 0.000001 A — — — - — 0.000001 7] 0.000001 i ] 0.000001 A4 4
gé Gl 44| FEA A B i A 0.02me/1LL 0.005 it 0.0054%if§ 0.0054if§ 0.005 4§ 0.0055Aii| 0.00554ii| 0.0055KM| 4
3 457 = /— V¥E 0.005me/1LL F 0.0005 A 0.0005 A i 0.0005 A i 0.0005 A i 0.00054#|  0.000574#|  0.000574# 4
3 46 | KW (ARSI FE: TOC) 3mg/ILA T 0.3 0.6 0.9 0.9 0.9 0.8 0.6 0.4 0.4 0.4 0.9 0.3 0.6] 12
% 47|pH 5.8~8.6 7.4 7.6 7.6 7.6 7.5 7.5 7.5 7.4 7.4 7.4 7.6 7.4 7.5 12
H 48|k RERL RERL HERL HERL RERL REIRL REIRL HERL R RERL HEIRL Byl 12
B 2o 49| RA HERL HERL HEIRL PR PR HERL PR PR HERL R RERL PR HERL] 12
50| 54l 0.5 0.5 0.5 0.5 0.5A7i 0.5 0.5 A7 0.5 0.5 0.5 0.5 47| 0.5 A Hil 0.5 A Hjtg 0.5Kdm| 12
51| kil 0. 15 o] o] ook o] ook oaskms|  o.dkms] ook oaskms|  o.skm| ook oasems| ok 12
A TR R 0104k 0.49 0.59 0.53 0.75 0.73 0.69 0.60 0.51 0.46 0.50 0.51] 0.75 0.46 0.57| 12




TRAFERE FAKERAR R OKEEH B EROEEH)

MimEA il wr | 44198 sH10R| eA7R| 7HAsA| sH2R| 9de6m| 10H4A| 11HSH| 12H6A| 1H10A| 2A7H| 3HTA| & Bl RESI EIE
T TR ROEOEY 0.02mg/1LA | me/1 - - - - - - - - - - - - - - - -
v7L ROZD(EAY 0.002mg/UA FOE) [ men | - - - - - - - - - - - - - - - |-
=o)L R OFOILEY 0.02mg/1LL F| me/t - 0.001 44 - - 000141 - - 0.00 141 - - 0.00 141l - 0.0014 | 0.001Kii | 0.00140 | 4
12-Yrmnxi s 0.004mg/1LL | me/l - - - - - - - - - - - - - - - —
=g 0.4mg/1LA T | me/t - - - - - - - - - - - - - - - -
THNRY (2-TF L ~F L)L) 0.08mg/1LLF| men | - - - - - - - - - - - - - - - —
i ey 0.6mg/1LL | men - - - - - - - - - - - - - - - -
bR 0.6mg/1LA | me/ - - - - - - - - - - - - - - - -
/4= 0=y S N Y17 0.01mg/1LL FCEE) | me/l - 0.001 4 - - 0.001 - - 0.001 41 - - 0.001 41 - 0001 | 0.0014H | 0.00LKi | 4
fKkIas—nv 0.02mg/1LA FCEE) | me/t - 0.002K - - 0.003 - - 0.0021 - - 0.0021 - 0.003 | 0.002:% | 0.0024% [ 4
= ety B ofe LTILL T - - - - - - - - - - - - - - - - —
PR 1mg/1LA F| me/l - - - - - - - - - - - - - - - -
TN BRI R D) 10mg/1LL 100mg/1PA T | me/t - - - - - - - - - - - - - - - —
~UH Y R OEDILEY 0.0lmg/1LA | me/ - - - - - - - - - - - - - - - -
i 34 20mg/1LL | met - 0.9 - - 1.2 - - 1.0 - - 0.9 - 1.2 0.9 1.0] 4
1,1,1-N)mpxg 0.3mg/1LA | me/l - - - - - - - - - - - - - - - -
AF)L-t-TF )L 2—F L (MTBE) 0.02mg/ILL F| me | - - - - - - - - - - - - - - - -
Ak 3mg/ AT [ met | - - - - - - - - - - - - - - - |-
R (TON) SLUF| 3T - 1.0 - - 1.0 - - 1.0 - - 1.0 - 1.0 1.0 1.0] 4
TR W 30mg/12h £200mg/1LA | me/t - - - - - - - - - - - - - - - -
o)y LR & - - - - - - - - - - - - - - - -
pHIE 7. 5RE - - - - - - - - - - - - - - - - -
S REVE (T 7Y T 4R %) —1TRELUBI0ICESTS| - - 270 - - 2,00 - - 23 - - 2.7 - -2 2.7 24| 4
e 3 ImlD K TSN OE TR 200080 F (BHE)| - - 0 - - 0 - - 0 - - 0 - 0 0 ol 4
1, 1-yr/upzFLv 0.1mg/1LL | me/t - - - - - - - - - - - - - - - -
TNI=T LR OEDAEY) 0.1mg/1LL | me/ - - - - - - - - - - - - - - - -




A FNASEJE

ZZRMNIRE R K B A A AL (51T E)

A H HEME(E 4H19H| 5HI10H 6H7H 7TH5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H| 1H10H 2H7H SHTH| fem A S [1EE

SR — - 13.1 - - 24.5 - - 13.2 - - 4.4 = 24.5 4.4 13.8 4

7Kl — - 10.0 - - 21.5 - - 14.3 - - 4.3 - 21.5 4.3 12.5 4

Ty 1Bk 100/1mIBL R - 0 - - 0 - - 0 - - 0 - 0 0 0 4

’ 2 [ K it 2. - Bt L Zeus - - BHIL 2 - - L2 - - L2z - BHLZ20] B L7 B L2 4
3 IRV LR DAY 0.003mg/121F - - - - - - - - - - - - - - - -

A[KER O DI EY) 0.0005me/1L1 T

A, 5| L R OEDILEY) 0.0 1lmg/I1LL F - - - - - - - - - - - - - - - -

6|80 M DA 0.01me/ILL - = - - 0.001 At - - - - - - - 0.001Afifi[ 0.001Kiifi| 0.00 LA 1
7|eE R RZFDLEW 0.01mg/1LL T - - - - - - - - - - - - - - - -

8|S MliZ bk DL EY) 0.02mg/1LL F - - - - 0.002 il - - - - - - - 0.002545 | 0.002545|  0.002405 1

9| AL HE 22 55 0.04mg/1L F - - - - 0.004 Aiifi - - - - - - - 0.004 40| 0.004A7i5|  0.004 A7 1

T O[> T A AA L RO T |0.01me/ILF 0.001 i 0.001 [ 0.0015i| 0.001 i 1
%ﬁﬁﬁﬂéﬁi% 11| A fe % S8 M OV A I A 45 3R 10mg/154 - = = - - = - - = = - - - - - -
e 12[7 v FE K OZEDILEY 0.8mg/ILL T - - - - - - - - - - - - - - - -
B 13|y M O DL G 1.0mg/ILLF - - - - - - - - - - - - - - - -
Iz 14| DUk 0.002meg/I1LL F - - - - - - - - - - - - - - - -
£ 15|1, 4> A%V 0.05me/ILAF - = = - - - - - - = - - - - - -

JH 16[#-12-vrmuxsrre gorsr 2-1,2-vsmnxF L 0.04mg/1LL T

I |aremE 17[ramrzy 0.02mg/1LL T - - - - - - - - - - - - - - - -
e 187 o/ FL 0.01mg/1LL T — — — — — — — — — - — — - — — —
H 19[FN)ZarFL 0.01mg/1LA T - - - - - - - - - - - - - - - -
H 20|~ 0.01mg/1LL F - - - - - - - - - - - - - - - -

21| Ha R 0.6mg/1LL T - - - - 0.11 - - - - - - - 0.11 0.11 0.11 1

22|77kl 0.02mg/ILAF 0.001 A 0.001 A | 0.001Kiii| 0.001 AT 1

23|77 ad/LA 0.06mg/1LA T - - - - 0.017 - = = - - = = 0.017 0.017 0.017 1

24|V 7o fERE 0.03meg/1L - - - - 0.007 - - - - - - - 0.007 0.007 0.007 1

25|V T eI AR 0.1mg/ILLF - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1

THeERIZERRY | 26| 5 FEm 0.01mg/IL4 F - - - - 0.001 i - - - - - - - 0.001 4| 0.0015%| o.0015km] 1

27PN AS 0.1mg/ILL T - - - - 0.023 - - - - - - - 0.023 0.023 0.023 1

28| )7 iR 0.03me/1L4 F 0.013 0.013 0.013 0.013 1

29[ mE Imm AKX 0.03mg/1LA T — - - - 0.005 - = = - = = = 0.005 0.005 0.005 1

30[ 7 mEgILL 0.09mg/1LL F — - - ~ 0.001 Aiifi - - - - - - — 0.001 M| 0.0015A7i5| 0.001 A 1

31|ALLT LT R 0.08meg/1EL F - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1

32[HEN e F DAY 1.0mg/1LL F - - - - 0.01 A¥iti - - - - - - - 0.01¥| 0.01A4M| 0.01 A 1

33| TII=T LM T DI EY 0.2me/184 F - - - - 0.02 - - - - - - - 0.02 0.02 0.02 1

K | e 34| R O DILEY 0.3mg/ILLF - - - - 0.03 A7 - - - - - - - 0.037mi| 0.034i| 0.03 A 1

| 3slg O DA | ome/ LT N - _ B 0.01 A1 - B B - - - - 0.01 4| 0.01AMi| 0.01 K 1
K 36[F NI L LD LEY 200mg/18L F — - - ~ ~ - ~ ~ - - — ~ - - - -

s 31|~ L MOEDIEEY 0.05mg/1LL - - - - 0.005 A - - - - - - - 0.005A+ii|[ 0.0055iii| 0.005 At 1

A |z o 38| i A A 200meg/ 1L I - 8.1 - - 8.3 - - 8.7 - - 8.6 - 8.7 8.1 8.4 4
7 (e B[S T~ 7R T ) | s0ome/ i F | - - - - - - - - - - - - - - - -
: Z Dt ES 3 500mg/1LL F - - - - - - - - - - - - - - - -
m 41| [EA A B i i Al 0.2mg/1LA T - - - - - - - - - - - - - - - -

4" 42|V A A 0.00001me/14 T — — — — 0.00000 1 i - — — — — — — 0.000001 i ] 0.000001 i | 0.00000 1 A 1

e R 43 zfx;f—/b/r%di/l/;l]’\z!‘h—/b 0.00001me/IEL - - - - 0.00000 1 A7 - - - - - - - 0.000001 At [ 0.000001 A4t | 0.00000 1 A 1
B3] 44| FEA A T 0.02mg/18L - - - - - - - - - - - - - - - -
pi:A 45| 7 = /—/VHH 0.005me/1L4 — - - — — - — — - - — — - - - —

kA 46| M) (S BB - TOC) 3meg/1LA T - 0.3 - - 0.9 - - 0.8 - - 0.4 - 0.9 0.3 0.6 4

% 47|pH 5.8~8.6 - 7.4 - - 7.6 - - 7.5 - - 7.4 - 7.6 7.4 7.5| 4

H 48|k BTN - SR - = LYY - = SRl - - SR - FETRL FFTRL SRl 4

B 2o 49| A TRV - FARL - - AL - - AL - - AR - FE L AL RElel 4

50| A GESL - 0.5 - - 0.5 A - - 0.5 A - - 0.5 A - 0.5 Al 0.5 0.5 4

51 [V pESL - 0. 1A - - 0.1 At - - 0.1 A - - 0.1 A - 0.1 Al 0. 1Al 0.1 A 4

fir e PR SR 0.1 b - 0.41 - - 0.43 - - 0.37 - - 0.44 - 0.44 0.37 0.41 4




BFAFE =2 HiR MUK BT R (51 E)

A H H LY 4H19H| 5H10H 6H7H TH5H 8H2H 9H6H| 10H4H| 11A8H| 12H6H| 1H10H 2H7H SHTH|  fen A | IR
S — - 11.0 - - 23.0 - - 14.2 - - 3.4 = 23 3.4 12.9 4
K — - 11.9 - - 23.1 - - 16.4 - - 4.8 - 23.1 4.8 14.1 4
1 1| —f%HI B 100/1mlILL F = 0 - - 0 - = 0 = = 0 = 0 0 0 4
2| KM BA faltisn A 2k - L 70 - - L0 - - B Lz - - L 70 - BHLAZV] BHLZ] Bl 4
3[HIRIVLRNZEDLEY 0.003me/1L4 - - - - - - - - - - - - - - - -
AR OZ DI 0.0005ms/ 11T - - - - - - - - - - - - - - - -
Py 5| L R OFOLEY) 0.01meg/ILLF - - - - - - - - - - - - - - - -
6180 K B DAL EY) 0.01meg/ILA F 0.001 i 0.001i#i| 0.001H| 0.001KWs| 1
T|ER B RZDILEY 0.01mg/124 F - - - - - - - - - - - - - - - -
8| A7 v B O DL EWY 0.02mg/1LL F 0.002 A 0.0024ii| 0.002Jwi[ 0.002 7w 1
9| e lRpEZ2 35 0.04mg/1LL F - - - - 0.004 A - - - - - - - 0.004Ai#i | 0.0045i| 0.004 A 1
ST 10 “/7‘/)1[:%42“‘/&0*‘1@%:/7‘/ 0.01mg/1LL T - - - - 0.00 1 A - - - - - - - 0.00 1 Aiii| 0.001KiM| 0.001Kii 1
TRy || AR A R OVl 1 A 10meg/IBL - - -
i 12[7 v FE K OZEDILEY 0.8mg/1LL T - - - - - - - - - - - - - - - -
e 13[FYFE R LD EY 1.0me/1L T - - -
"z 14| DUfbk i3 0.002mg/1ELF — - - - - - - - — — - - - - - -
8 151,440 0.05mg/1LL T - - - - - - - - - - - - - - - -
i;ﬁ 16 [+*-12-v7mm=FLy RULTY 2-1,2- Y7 F LY 0.04mg/1LLF — — - - _ — _ _ _ _ _ _ _ — — _
ENEET Tk 17| ooz 0.02me/1LL - - - - - - - - - - - - - - - -
é 1 A === o 0.01mg/1LL F - - -
LE 19|k /o FL 0.01mg/1LL F - - - - - - - - _ B - - N — - —
H 20|~ P 0.01mg/1LL T - - - - - - - - - - - - - - - -
21 [Hi 0.6mg/ILLF - - - - 0.11 - - - - - - - 0.11 0.11 0.11 1
22| iR 0.02mg/1LL F - - - - 0.001 At - - - - - - - 0.001 A | 0.00 1A | 0.001 At 1
23| /aadL 0.06mg/1L4 F 0.016 0.016 0.016 0.016 1
24| 7 fifz 0.03mg/1LL F - - - - 0.006 - - - - - - - 0.006 0.006 0.006 1
25|V 7 s uua AR 0.1mg/1L4 F - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
R AR | 26| RFEE 0.01mg/14 F - - - - 0.001 A1 - - - - - - - 0.001A4#| 0.001Ki#| 0.001AiH 1
27N N AR 0.1mg/ILL F - - - - 0.022 - - - - - - - 0.022 0.022 0.022 1
28| N7 FERE 0.03mg/1L4 F - - - - 0.013 - - - - - - - 0.013 0.013 0.013 1
29| 7 ey AR 0.03mg/1LL F - - - - 0.005 - - - - - - - 0.005 0.005 0.005 1
30| 7 EEAULL 0.09mg/1LL - - - - 0.001 Al - - - - - - - 0.001Aii[ 0.0010ii| 0.001 A 1
31|AL AT TR 0.08mg/1LL T - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
32|Hgn K DL EY 1.0mg/1L0 F - - - - 0.01 A - - - - - - - 0.01Ai|  0.01AmM|  0.01A7M 1
33| TNI=T LR OEDALE W 0.2meg/1LL F - - - - 0.02 - - - - - - - 0.02 0.02 0.02 1
& |sepeme 34| B DL EY 0.3mg/ILL F - - - - 0.03 A - - - - - - - 0.035K0Mi|  0.03Ai|  0.03Ai 1
w | 35|80 M N ZFDALE W) 1.0mg/1L4 - - - - 0.0 1A - - - - - - - 0.01AYM|  0.01AIM|  0.01 AT 1
K 36T FIT LR OEDILEW 200mg/1LL F - - - - - - - - - _ - — - — - —
N 37|~ T OZF DS 0.05mg/1L F - - - - 0.005 A7 - - - - - - - 0.0054%|  0.0054%mi|  0.00574ii 1
A |Zofh 38 A A 200mg/1L F - 8.2 - - 8.5 - - 8.6 - - 8.5 - 8.6 8.2 8.5 4
T |sepen T 39 e e~ R Y 1 () | 300me/ 101 T - - - - - - - - - - - - - - - -
= [zoum 10[ZEHE IR R 500me/ 1L - - - - - - - - - - - - - - - B
o 11| Fe o Ao R i A ooma AT | - E B - - - - - - E - - - - - -
TS 42[P A A 0.00001m/ LA T - - - - 0.000001 A - - - - - - - 0.000001 i [ 0.000001 i | 0.000001 it 1
Iz RS 432 — AF )L A VR IV FRF— )L 0.00001me/1A T - - - - 0.00000 1 ifi - — — — — - - 0.000001 i | 0.000001 i [ 0.000001 i 1
23] - A4 |FEA A S s EA 0.02mg/1LL F - - - - - - - - - - - - - - - -
pLEcA 457 = /—)L¥H 0.005me/184 F - - - - _ _ _ _ _ _ _ _ , , _ _
ikl 46 | W) (AR 56 - TOC) 3me/ILT - 0.3 - - 0.9 - - 0.8 - - 0.4 - 0.9 0.3 06| 4
@) 47[pH 5.8~8.6 7.3 7.5 7.5 7.4 7.5 7.3 74| 4
H EIES TR s - FERL - - FERL - - HETRL - - FE L - HERL BTl B 4
H 2o 19| BL& RSO - Rl - - R - - RERL - - el - Euiel|  RERL| EERL 4
50| % 54l - 0.5 At - - 0.5 A - - 0.5 A - - 0.5 A - 0.5 A7 0.5 A 0.5 A 4
51 [¥E PESL] - 0.1 A - - 0. 1K - - 0.1 Kt - - 0.1 Al - 0.1 A7 0.1 A7 0.1 K5 4
i FRER TR 010 I - 0.39 0.46 - - 0.37 - - 0.42 - 0.46 0.37 0.41 4




BRAEE =55 IR IR BT AL RS A (51T H)

AT H FEVE(E 4H19H| 5H10H 6HT7H 7H5H 8H2H 9HG6H| 10H4H]| 11H8H| 12H6H| 1HI10H 2H7H SHTH|  fer A R I EIE
SR — - 15.8 - - 32.5 - - 12.2 - - 3.4 - 32.5 3.4 16.0 4
K — - 12.3 - - 23.5 - - 17.3 - - 5.5 - 23.5 5.5 14.7 4
B 1| — A A 100/1mIBL T - 0 - - 0 - - 0 - - 0 - 0 0 0 4
BNV e ak L MLz L L7 Lz L2V BiLzn 4
BARIT LR DI EY 0.003me/IA T
4K 2 DAL EWY) 0.0005mg/1L4 T
R, 5|z RO DALE 0.01me/ILLF - - - - - - - - - - - - - - - -
6|80 M N E DL EY 0.01mg/1LLF - - - - 0.001 i - - - = - - - 0.001K1Hi| 0.0010mi| 0.0017H 1
7| EKOZEDILE D 0.01mg/IAF - - - - - - - - - - - - - - - -
8| A7 v b O LS 0.02mg/1LL T 0.002 i 0.00247m|  0.00257|  0.002 K3 1
| i il e 22 3% 0.04mg/1LL T 0.004 A 0.0044#|  0.004Fi|  0.004 47w 1
SERS T 10 v?‘/{l:%/r?f‘/&tﬁl;ﬁft:/'r‘/ 0.01mg/1LLF 0.001 i 0.0014#| 0.00157m] 0.001 4 1
%%%auinm 11| fiPATE 28 38 M OV RE HE 22 57 10me/1Lh - - - - - - - - - - - - - - - -
o 12|77 v FE RO DILEW 0.8me/ILL T - - - - - - - - - - - - - - - -
B 13|FVFE K DL EY 1.0mg/ILL - - - - - - - - - - - - - - - -
Iz 14| VO bR FE 0.002mg/181 F
[E5] 15[1,4V 4 %0 0.05mg/1LL F
L 16 [z=-12-vrmazFLe gUtTy 2-1,2-YraazF LY 0.04mg/12L F
e Tk 17| ranary 0.02meg/1LL - - - - - - - - - - - - - - - -
el 18|57 rormuxza1 0.01me/1LL T - - - - - - - - - - - - - - - -
M 19|k ZvoxcFL 0.01mg/I1LLF - - - - - - - - - - - - - - - -
H 20|~ 0.01mg/I1LL F
| 21 [t 0.6me/ 104 - - - - 0.11 - - - - - - - 0.11 0.11 0.11] 1
20| 7o 0.02meg/1LL T - - - - 0.00 1 i - - - - - - - 0.00 LA [ 0.001K7M| 0.001 A 1
23| 7L 0.06meg/1LL T - - - - 0.016 - - - - - - - 0.016 0.016 0.016 1
24| a iR 0.03meg/1LL - - - - 0.006 - - - - - - - 0.006 0.006 0.006 1
25| 7 aEun AN 0.1mg/ILLF - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
VH 72 Bl A ) 26| 2T 0.01mg/1LL T - - - - 0.001 A3 - - - - - - - 0.001K3| 0.00155| 0.00155 1
27FARU N A& 0.1mg/1LL T - - - - 0.022 - - - - - - - 0.022 0.022 0.022 1
28| 7 a 0.03mg/1LL - - - - 0.013 - - - - - - - 0.013 0.013 0.013 1
29| 7 eI AN 0.03mg/184 F - - - - 0.005 - - - - - - - 0.005 0.005 0.005 1
30| 7 BEAILL 0.09mg/1LL F - - - - 0.00 1 Al - - - - - - - 0.001 4w | 0.001Aji%| 0.001 A5 1
31|V LT ILTER 0.08mg/12L F - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
32| Hi g e OVF DILE W) 1.0mg/1, F - - - - 0.0 1A - - - - - - - 0.01K7m|  0.014m]| 0.0 1
33T NI=T LR OZEDIEY) 0.2mg/ I T - - - - 0.02 - - - - - - - 0.02 0.02 0.02 1
ik SERS T 348k K OF DS 0.3mg/1LL - - - - 0.03 A7 - - - - - - - 0.03 R 0.03 A7 0.03 A7 1
E h 35 |4 fx O FE DA LS 1.0mg/1LL T - - - - 0.0 1 A3 — - — - - - - 0.01A%)  0.01%m|  0.015K3 1
7K 36| NI AR OZEDILEY 200mg/I1LL T - - - - - - - - - - - - - - - -
7 37| = W B OZEDILEY 0.05mg/1LL T - - - - 0.005 A7 - - - - - - - 0.0054m|  0.00547mi|  0.0055K3 1
A Z D1l 38| Mk A A 200mg/1LL T - 8.3 - - 8.4 - - 8.6 - - 8.3 - 8.6 8.3 8.4 4
’f A 3 INT T L= TR I () | 300me/IAF - - - - - - - - - - - - - - - -
= zofn 40| I TR 500me/15L T - - - - - - - - - - - - - - - -
i A1 |4 R s EAl 0.2mg/18L - - - - - - - - - - - - - - - -
IR 42|V = A A 0.00001me/1L I - - - - 0.000001 A7 - - - - - - - 0.000001 | 0.00000 1 il | 0.000001 A 1
W | psmer 43|2 = AFNAVKRILF A —/L 0.00001me/1EL - - - - 0.00000 1 Al - - - - - - - 0.000001 A [ 0.000001 4 | 0.000001 A 1
B A4 |FEA A S IE Al 0.02mg/18L - - - - - - - - - - - - - - - -
S A5 7 = 7 — VFH 0.005mg/124 F - - - - - - - - - - - - - - - -
Ea 46 | AW (AT B SE : TOC) 3me/ILLF - 0.3 - - 0.9 - - 0.8 - - 0.4 - 0.9 0.3 0.6 4
% 47|pH 5.8~8.6 B 7.4 - - 7.6 - - 7.5 - - 7.4 - 7.6 7.4 7.5 4
5 48| BETRVNE - FE7RL - - FE7EL - - FETRL - - FHETRL - FETRL|  RE7RL|  SERL 4
B 2ot 49| H A BTy - B - - FEIRL - - SR L - - FERL - el BuEseL]|  mEaL] 4
50| A 54 - 0.5 A - - 0.5 - - 0.5 - = 0.5 - 0.5Aif 0.5Aif 0.5Aif 4
51| 2Kl - [(RESL] - - 0. 1A - - 0. LA - - 0.1 A - 0. 1543 0. 1543 [REST 4
A= FRERYE IR 0.10 |k - 0.38 - - 0.40 - - 0.36 - - 0.42 - 0.42 0.36 0.39 4




BIAFIE = KK B R A RS e (513 H)

IR H Y 4H19H| 5H10H 6H7H 7H5H 8H2H 9HG6H| 10H4H| 11H8H| 12H6H| 1H10H 2H7H SH7TH| & faliy |

S — 11.4 15.3 17.4 22.7 28.8 26.4 23.7 15.0 11.7 5.6 3.8 8.1 28.8 3.8 15.8 12

K — 8.9 13.3 16.3 18.2 23.7 24.3 21.9 17.6 12.6 6.4 5.6 5.7 24.3 5.6 14.5 12

A 1| —f%HI B 100/ 1mILL F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12

2| R mitsneccy | RHILZR] B L7 B LZew] BREHLZeV ] B LZev ] B L2 B L2 B LZev ] BRLZeW ] B LZew] ML Zew] L2 B LZev ] B Lz L] 12
3| HRIV LK REDLEY 0.003me/1LA T - - - - - - - - - - - - = - - -
4K ER K OZF D B 0.0005mg/1LLF - - - - - - - - - - - - - - - -
Fy 5| L R OED LAY 0.01mg/124 F - - - - - - - - - - - - - - - -

EAY OSSPl =x. ) 0.01mg/1LL F - 0.001 A1 - - 0.001 i - - 0.001 i - - 0.001 A1 - 0.00157Hi| 0.001RiM| 0.001AKi#| 4
T|ER K RZDLED 0.01mg/1LL T - - - - = - - - - - = - - - - -

8|/l Z bk N E LB 0.02mg/1L4 F - 0.002 K4 - - 0.002 i - - 0.002 it - - 0.002 K - 0.0024K4| 0.002AKiii| 0.002K 7w 4

9| HELfiF PR T 42 % 0.04me/1LL T - 0.004 A - - 0.0044ii - - 0.004 i - - 0.004 A - 0.004A%ii| 0.0045Hi| 0.004A4| 4

T 10 ?7ijtw4ﬂ-g}§z@m{i:y7y 0.01ms/I0L T - 0.00 LA - - 0.00 1 At - - 0.001 At - - 0.001 At - 0.001 A | 0.001Awi| 0.001 A 4
BRI 11| A1 i s S N OV A B 22 SR 10me/1Lh F - - - - - - - - - - - - - - - -
e 12[7 v FE K OZEDILEY 0.8meg/1L F - - - - - - - - - - - - - - - -
HE 13|V FE K OZEDILEY 1.0mg/1LL F - - - - - - - - - - - - - - - -
z 14| DUtk RFE 0.002ma/1LL T - — B - - - _ , _ _ , _ _ _ — ~
13 151,40 A%V 0.05mg/1LL I - - - - - - - - - - - - - - - -
L 16|57 1.2 vrmm=Fre gorse 1,2 vramz FLo 0.04meg/1LLF - - - - - - - - - - - - - - - -
I A E 17|vrmnrz 0.02me/1L - - - - - - - - - - - - - - - -
> 18| 7 hF/mpn s L 0.01mg/ILL F - - - - - - - - - - - - - - - -
= 19[F) /oL 0.01mg/18L - - - - - - - - - - - - - - - -
H 20|~ 0.01mg/1LL F - - - - - - - - - - - - - - - -

21| MR 0.6mg/1L4L F - 0.04 - - 0.11 - - 0.07 - - 0.05 - 0.11 0.04 0.07 4

22| v ik 0.02mg/14 F - 0.00 1 il - - 0.00 1 At - - 0.001 Al - - 0.001 Al - 0.001 A4 [ 0.00140|  0.001 A7 4

23|7oadL A 0.06mg/12LF = 0.002 = 0.008 0.017 0.019 0.020 0.012 = = 0.003 - 0.020 0.002 0.012 7

24| 7 a o kR 0.03mg/1LL F = 0.002 = = 0.006 = = 0.004 = = 0.002 = 0.006 0.002 0.004 4

25| T AR 0.1mg/1LL = 0.001 = 0.001 0.001 0.001 0.002 0.002 = = 0.002 - 0.002 0.001 0.001 7

TH R R R 26| 5 A 0.01mg/1LL F - 0.001 A - = 0.001 A - — 0.001 A — — 0.001 A - 0.001 4w | 0.001A4w|  0.001 A 4

27| bU N A 0.1mg/1LL = 0.005 = 0.013 0.024 0.026 0.030 0.020 = = 0.008 - 0.030 0.005 0.018 7

28|~ 7 o gk 0.03mg/12L F - 0.001 ATl - - 0.013 - - 0.008 = - 0.002 = 0.013[0.001 A 0.006 4

29[ e /nua Ay 0.03mg/1LLF = 0.002 = 0.004 0.006 0.006 0.008 0.006 - - 0.003 - 0.008 0.002 0.005 7

30[7 eEdLL 0.09mg/1L4 F - 0.00 1 Al - 0.001 | 0.001 4| 0.001AJii| 0.001AYi| 0.001 AV - - 0.00 1 Al - 0.001Ailii|  0.001 4| 0.001 A 7

31T LT er 0.08mg/1L4 F - 0.00 1 Al - - 0.001 - - 0.001 - - 0.001 Al - 0.001] 0.001Afii| 0.001Ajw5 4

32N NZE DL 1.0mg/1LL F - 0.01 A3 - - 0.01 A - - 0.01 47 - - 0.01 A3 - 0.0143m]  0.014K4#|  0.014KH 4

33[TNI=T LK OZEDIEY 0.2me/1LL F - 0.01 il - - 0.02 - - 0.01 A i - - 0.0 1 i - 0.02[ 0.01Kif#i|  0.015Kiif 4

s BT 34|18 M O ZFDILEW 0.3mg/ILL F - 0.03 A7 = - 0.03 i = - 0.03 A ji - - 0.03 A7 - 0.030i|  0.03FMi|  0.03F4Mi 4

358 f D A 1.0mg/1LL T - 0.01 A3 - - 0.01 i = - 0.0 1 A jii - - 0.01 A - 0.01AJ#|  0.01M|  0.01F4M 4
36| NIV ALK ZE(LEY) 200mg/1LL F - - - - - - - _ — _ _ — _ _ - ~

37| = AR OPZDILEY 0.05mg/1L4 F - 0.005 A - - 0.005 A - - 0.005 A - - 0.005 A - 0.005 K4 | 0.005 44|  0.005 A 4

Z DAth 38| M kA4 200mg/1LL 8.6 8.7 7.8 8.8 8.6 8.7 8.0 8.6 8.5 7.9 8.6 9.0 9.0 7.8 8.5 12

R 39| AN T L= TR I () | 300me/1ELF - - - - - - - - - - - - - - -

Z At 40| RS TR W 500mg/1LL F - - - - - - - - - - - - - - - -
| 41 [BaA A S TS 0.2meg/1LL - - - - - - - - - - - - = - - -

42| = A A 0.00001me/1EL F - - - 0.000001 55| 0.000001 4| 0.000001 A5 | 0.00000 1 A — - — - — 0.000001 A5 [ 0.000001 54 | 0.000001 At 4

Ak 43|2— AF LA VR IV FRF— L 0.00001me/IA F - - - 0.000001 i [ 0.000001 5474 0.000001 45| 0.00000 1 At - — — - - 0.000001 45 [ 0.000001 547 | 0.000001 it 4
A4 | FEA A SIS 0.02meg/1LL F - - - - - - - - - - - - - - - -
457 = ) — )VFH 0.005me/1LL T — — - - - - — — — — - - - - - —

46 | B (A - TOC) 3me/IL T 0.3 0.3 0.6 0.6 0.9 0.9 0.9 0.8 0.6 0.4 0.4 0.4 0.9 0.3 0.6] 12

47|pH 7.3 7.4 7.5 7.6 7.6 7.6 7.6 7.5 7.5 7.3 7.4 7.4 7.6 7.3 7.5 12

48|k Rl HERL HETRL FETRL FERL FTeL LLYiAN BERL HETRL FERL L B L SRl HEpL| 12

DML 49| R EYiitAN HERL EiXiizAN") L FHRL 7R SR SR LR FHERL FH 7L SR B 7R oL 12

50| A 0.5 A7 0.5 A7 0.5 Al 0.5 A7l 0.5 A7 0.5 A7 0.5 A7 0.5 A7 0.5 A7 0.5 A7l 0.5 Al 0.5 A7 0.5 At 0.5 At 0.5Km| 12

51|)E 0.1 A4 0.1 A 0. 1A 0. 1A 0.1 A4 0. 1A 0.1 A 0.1 A4 0.1 K 0. 1A 0. 1 A5 0413&?%" 0.1 K 0.1 K 0.1KMm| 12

A TR R 0.36 0.36 0.45 0.34 0.38 0.38 0.38 0.34 0.41 0.43 0.42 0.45|| 0.45 0.34 0.39 12




BFNAFE =S L K B R AR R (51T E)

A H YA 4H19H| 5HI10H 6HTH 7TH5H 8H2H 9H6H| 10H4H| 11H8H| 12A6H| 1H10H 2HTH SATH| & ey ) %

S — - 13.2 - - 29.6 - - 11.5 - - 3.2 - 29.6 3.2 14.4 4

KR — - 12.4 - - 23.1 - - 16.3 - - 5.0 - 23.1 5.0 14.2 4

) 1| —fA 100/ 1mlP F - 0 - - 0 - - 0 - - 0 - 0 0 0 4

RNt Bt sk - L2z - - LA - - B L7 - - L 720 - BHLZV] BRELZRV] Rz 4
3|IRIV LR LD EY 0.003me/1LL T - - - - - - - - - - - - - - - -

4K EE K OF D LS 0.0005me/1L4 F — - — - — — — — — - - — - - -

e 5| L R OEDO(LEY 0.0 1mg/1LL F - - - - - - - - - - - - - - - -

" 6 ¢80 B OF DAL A 0.01mg/ILLF - - - - 0.001 i - - - - - - - 0.001K0#|  0.001K0#| 0.001Kiil 1
TeR K PZDILEY 0.01mg/ILLF - - - - - - - - - - - - - - - -

B[Nl v b Je N DALE) 0.02mg/1L4 F - - - - 0.002Ait§ - - - - - - - 0.002A%ifi|  0.0025K7ii| 0.002Ail 1

o| My me e 2 3% 0.04mg/ILLF - - - - 0.004 A7 - - - - - - - 0.004Ai|  0.0045Ai#| 0.004A1il 1

R T 10| T AL AA L RO b T [0.01mg/1LLF - - - - 0.001 i - - - - - - - 0.00150#|  0.0015Ki|  0.001KiH 1
%Eﬁa@mz% 11 |F MR HE %2 58 K OVl fE R RE %2 58 10me/1L T - - - - - - - - - - - - - - - -
e 12|17 v FR R OZDEY 0.8me/ILL T - - - - - - - - - - - - - - - -
e 13| R OZ DL 1.0me/ 18 T - - - - - - - - - - - - - - - -
z 14|Dusthfb k25 0.002me/1L4L - - - - - - - - - - - - - - - -
[E5] 15|1,4 A %% 0.05mg/1L4 ¥ - - - - - - - - - - - - - - - -

S 16 |7 1.2-v7mmzFLe ROGNT 21 ,2- 2R LY 0.04mg/1LLF - - - - - - - - - - - - - - -

Bl G L 17| yumrge 0.02me/1L4 ¥ - - - - - - - - - - - - - - - -
e 18] r5 marFL 0.01me/ILLT - - - - - - - - - - - - - - - —
H 19[F)ZaaxFL 0.01mg/1EA F - - - - - - - - - - - - - - - -
H 20~ B 0.01mg/1L F — - — - — - — - — - - — - - - -

21| MEERE 0.6mg/104 F - - - - 0.11 — - — - - - - 0.11 0.11 0.11 1

22| 7 fEE 0.02mg/ILL F - - - - 0.001 Al - - - - - - - 0.001 5[ 0.001 A | 0.001 A 1

23|7amsyLA 0.06meg /10T - - - - 0.018 - - - - - - - 0.018 0.018 0.018] 1

24|V 7 R 0.03mg/1k F - - - - 0.008 — - — - - - - 0.008 0.008 0.008 1

25|V 7 aErana AL 0.1mg/ILLF - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1

R | 26] RSk 0.01me/IPL - - - - 0.00 1 A - - - - - - - 0.00 1 Aif| 0.00 1 A#i| 0.00 1A 1

27 R N A 0.1mg/ILLF - - - - 0.025 — - — - - - - 0.025 0.025 0.025 1

28| R 7 iR 0.03mg/1LL F - - - - 0.013 - - - - - - - 0.013 0.013 0.013 1

2|7 HETIEOAR 0.03mg/ILk F - - - - 0.006 - - - - - - - 0.006 0.006 0.006 1

30| 7 AL 0.09mg/1Lh F - - — - 0.00 1 Al — — — — - - - 0.001 4| 0.001 Aii| 0.001 A 1

31|AVLLT LT ER 0.08mg/ILL F - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1

32[High e NZ DL B 1L0mg/ILL T - - = - 0.01 54 - - - - - - - 0.0 1A 0.0 1 Rf| 0.0L KM 1

33| TNR=T B EDA LS 0.2mg/1L4 F - - — - 0.02 — — — — - - — 0.02 0.02 0.02 1

K | e 3B ZDLEY 0.3mg/ILL F - - - - 0.03 AT - - - - - - - 0.03K4ii| 0.03R4mi| 0.03 A 1

i 35|80 kO DL E ) 1.0mg/IL T - - - - 0.0 14 - - - - - - - 0.0 LA 0.0 LR 0.0L RN 1
K 36| 7Ry AR OZ DAY 200me/ I - - - - - - - - - - - - - - - -

» 37|~ H R OZDILEY 0.05mg/1LL F - - - - 0.005 A7t - - - - - - - 0.005 i 0.005 7| 0.005 A 1

A |z ofh 38|l 1A 200me/ AT - 8.7 - - 8.6 - - 8.9 - - 8.5 - 8.9 8.5 8.7 4
j JERE ) BT 3N T L= TR L (FHJE) | 300me/1LL T - - - - - - - - - - - - - - - -
’; Z DAth 10| 2R FE IR W) 500meg/ILL T - - - - - - - - - - - - - - - -
V“l | 41| BEA A2 S i i P4 751 0.2mg/ILLF - - - - - - - - - - - - - - - =

4?( 12[V A A 0.00001me/151 F - - - - 0.00000 1 — ~ - - — — — 0.000001 K| 0.000001 5| 0.000001 i 1

[l P 43[2— AFNAVHRNFA— /L 0.00001me/1L4 - - - - 0.00000 1 A - - - - - - - 0.000001 38| 0.000001 53] 0.000001 4% 1
BY 44| IEA A SIS PES 0.02mg/ILA T - - - - - - - - - - - - - - - -
L 45|77 = 7 — )V¥H 0.005m/1LL F — - — - — — — — — - - — - - - -

kR 46 | H B (SR - TOC) 3mg/LLL T - 0.3 - - 0.9 - - 0.9 - - 0.4 - 0.9 0.3 0.6 4

B 47|pH 5.8~8.6 - 7.4 - - 7.6 - - 7.5 - - 7.5 - 7.6 7.4 7.5 4

! 48| - HEL - - FEIRL - - FHIRL - - FEL - Bl ML) BERL] 4

Z Al 19| RR ; - RERL - - FEIRL - - FE IR - - Bl - HERL R L 4

50|z g 51 - 0.5 Al - - 0.5Aifi - - 0.5 Al - - 0.5 il - 0.5Ail 0.5AFjii 0.5 4

51| 2 — 0.1 A5 - — 0. 1A - — 0. 1A - — 0.1 A5 - 0. 1A 0. 1A 0. 1A 4

A FREAHE IR 0.100 F - 0.38 - - 0.47 - - 0.37 - - 0.43 - 0.47 0.37 0.41 4




BFAFE = S AR MUK B AR R (51 H)

A JUEfE 4H19H| 5HI0H 6H7H TH5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H| 1HI10H 2H7H SHTH| e el | EEK
S — — 14.0 — — 26.2 — — 14.9 - 3.7 = 26.2 3.7 14.7 4
K — - 10.3 - - 21.5 - - 14.5 - 4.3 - 21.5 4.3 12.7 4
. LB 100/ 1mIL T - 0 - - 0 - — 0 _ 0 _ 0 0 ol 1
2| KA fhtshcx - HHILZ2 0 - - MLz - - WL - LR - LRV B L2 4
PRy sk OO EY 0.005ma/154 T - - - - - - - - - - - - - -
ApkERR Dk B 0.0005me/ 143 F - - - - - - - - - - - - - - -
P 5| L K OEDILE Y 0.01mg/IA T - - - - - - - - - B - - - -
6lgn M O E DA 0.01mg/ILL T - - - - 0.001 A - - - - - - 0.001541|  0.0015&7m|  0.001 4 1
T|eE L ZDILEY 0.01mg/ILLF - - - - - - - - - - - - - - -
8|z OZ (LAY 0.02mg/1L4 - - - - 0.0024it§ - - - - - - 0.002Ai#|  0.002544i| 0.0024it 1
9| HHL G R IR 25 57 0.04mg/ILL - - - - 0.004 i - - - - - - 0.00451#i| 0.0045%H| 0.0044mi| 1
SR T 10 /T/H:%/rzr/);zuiﬁﬂg/?/ 0.01me/ILL - - - - 0.001 i - - - - - - 0.0015Iifi| 0.0015Kfwi| 0.001 A 1
Wi R 11| A 8 22 38 K OV AR IR 22 7 10meg/ILL = = = = = = = = = = = = = = -
e 12| 7 v R K OZDLEY 0.8mg/ILL F - - - - - - - - - - - - - - -
He 13| %M ZEDLEW 1.0mg/ILA - - - - - - - - - - - - - - -
- 14| PUtGEAR IR 35 0.002me/ 150 F - - - - - - - - - - - - - - -
E5] 151,47 A%V 0.05meg/1LL F — - - - - - - - _ _ _ _ _ _ —
i% 16|-#-1.2-v7mr=FLr RUNT> A-1,2-Y7aRTF Lo 0.04mg/1LLF - - - - - — - — - - - - - - -
I (GmE 17| 7oaxz 0.02me/1L4 T - - - - - - - - - - - - - - -
’5, 18|7 hZ7/nu=FL 0.01mg/1LL F - - - - - - - - - - - - - - -
H 19|F) 7o —F1L 0.01mg/184 F - — - — - - - - - - — - - -
R 20~ ¥ 0.01mg/1LL F = = = = = - = - = = = - - - -
21| M SR 0.6mg/1LA F - - - - 0.11 - - - - - - 0.11 0.11 0.11 1
22| 7 ik 0.02mg/1LL F - = - — 0.001 A7l - — - = - — 0.001 K4  0.001KRim| 0.001K3H 1
23[7udvrs 0.06meg/1LL - - - - 0.017 - - - - - - 0.017 0.017 0.017 1
24| 7 v R 0.03me/1LL F - - - - 0.008 - - - - - - 0.008 0.008 0.008 1
25| mEsaa Ay 0.1mg/ILAF - - - - 0.001 - - - - - - 0.001 0.001 0.001 1
W R 26| KW 0.01mg/ILLF - - - - 0.001 A - - - - - - 0.0014715|  0.0014%|  0.001 45 1
27{far I N RZ 0.1mg/ILLF - - - - 0.023 - - - - - - 0.023 0.023 0.023 1
28| N e FERE 0.03mg/1LL F - - - - 0.012 - - - - - - 0.012 0.012 0.012 1
29|7 e ruuRAE 0.03mg/1Lh - - - - 0.005 - - - - - - 0.005 0.005 0.005 1
30| 7 eEAULL 0.09mg/18 F — - - - 0.001 A - - - - - - 0.0014ji5| 0.001Aili[ 0.001 A7 1
31|AVL LT VTR 0.08mg/1LL F — — = = 0.001 = = = = - = 0.001 0.001 0.001 1
32|High K N b EW 1.0me/ILLF - - - - 0.01 A - - - - - - 0.0140M|  0.01A4m|  0.01KiH 1
33| TNR=T LK DL EY 0.2mg/1LL T = - = = 0.02 = = = = - = 0.02 0.02 0.02 1
K |t 348K DL EY 0.3me/ILL F _ _ — — 003 — — — — = - TES Rrws men .
W 35|68k DL EY 1.0me/ILL F - - - - 0.01 A5 - - - - - - 0.01K5%| 0.0 0.014% 1
7K 36| N LK ZEDILEY 200me/12L F — - - - - — - - _ _ _ _ _ _ —
N3 37|~ B OZEDILEY 0.05me/1LL T — - — — 0.005 A3 - - - - - — 0.005AK4|  0.0057m]|  0.005 4 1
G ET 38| A A 200mg/184L F - 8.5 - - 8.5 - - 8.4 - 8.5 - 8.5 8.4 8.5 4
3_\ MEREY) B 39|V b IR L () | 300me/ I - - - - - - - - - - - - - - -
: Z DAth 410|783 500mg/18k F - - - - - - - - - - - - - - -
F} A1|pEA A TG PEA 0.2mg/ILLF - - - - - - - - - - - - - - -
" 12|V A A 0.00001me/ 124 T 0.00000 1 A 0.000001 [ 0.000001 K| 0.000001 il 1
o 43|2— AF LA VR )L F— )L 0.00001mg/1EL T - - - - 0.00000 1 At - - - - - - 0.000001 A | 0.000001 4| 0.000001 At 1
Y - 44| FEA A R s PEA 0.02mg/1LL F - - - - - - - - - - - - - - -
S 457 = 7 — V¥ 0.005me/1L4 - - - - - - - - - - - - - - -
Ea 46 [ ) (RA BRI R : TOC) 3me/ILL T - 0.3 - - 0.9 - - 0.8 - 0.5 - 0.9 0.3 0.6 4
&) 47|pH - 7.4 - - 7.6 - - 7.5 - 7.5 - 7.6 7.4 7.5 4
! 48[k - BETRL - - FEIEL - - FEIEL - FHTRL - FERLL  BERL]  RETRL 4
At 49| H5 - TR - - SR - - SLFTRL - S7RL - BERL| BEEL]  REel| 4
50| A SA# - 0.5l - - 0.5 At - - 0.5Ail - 0.5 il - 0.5l 0.5 il 0.5 4
51| #HE 2k - 0. 154 - - 0. 1A - - 0. 1A it - 0.1 - 0. 15 (BEST] 0.1KM| 4
A PR R MR 0.100 F - 0.42 - - 0.49 - - 0.42 - 0.44 - 0.49 0.42 0.44] 4




AR e | 4H19R| S5H10H) 6HA7A| T7HSH| 8H2H| 9H6H| 10H4A| 11ASH| 12H6H| 1H10A| 2A7TH| B3HTHL K& K Yy [EK
ik — - 14.1 - - 26.7 - - 14.4 - - 3.3 - 26.7 3.3 14.6 4
7RI — - 10.2 - - 21.8 - - 14.5 - - 4.3 - 21.8 4.3 12.7 4
1 1 [ —Bhm 100/ 1mlLh F - 0 - - 0 - - 0 - - 0 - 0 0 0 4
2| B s e - L2 - - MLz - - Lz - - ML - Bz L] MLz 4
3|HRIV LK ZED(LEY 0.003me/1LL T - - - - - - - - - - - - - - -
4 KER B O DAL S 0.0005mg /124 - - - — - B N - - - _ _ — — —
Tl 5| L KR OZEDILEY 0.01mg/ILL T - - - - - - - - - - - - - - - -
6|80 DA 0.01mg/ILAF - - - - 0.00 1 Al - - - - - - - 0.001 | 0.0014i| 0.0014il5 1
T|eE L OZDLEY 0.01mg/ILA - - - - - - - - - - - - - - - -
8| A 2 b K M DB 0.02meg/ILLF - - - - 0.002 i - - - - - - - 0.0024ii| 0.0025H| 0.002i5 1
9| A B e 2 3R 0.04me/ILL T - - - - 0.004 A5 - - - - - - - 0.00454| 0.0045%5[ 0.004%wE[ 1
TR T 10[> T Ak A AL RO LS T [0.01me/L T - - - - 0.001 i - - - - - - - 0.001 | 0.001 55| 0.001 il 1
Yﬁﬁﬁﬂiﬁi% 11| AEAAREEE 38 K% OVl A A HE 28 32 10me/ILF - - - - - - - - - - - - - - - -
e 12| 7 v HE R PZDILEY 0.8meg/ILL T - - - - - - - - - - - - - - - -
B 13|V FE K OZEDALEY) 1.0mg/ILL T - - - - - - - - - - - - - - - -
z 14| DU R 3R 0.002me/1L4 - - - - - - _ _ _ _ _ _ _ _ _
38 151,47 AP 0.05mg/ILL T - - - - - — - _ _ _ _ _ _ _ —
L 16|z 12-vrmmesry muksr 2-12-vsmas s 0.04mg/1LL F — - — — — — — - - — - - - — -
| AR 17| raa Az 0.02meg/ILL T - - - - - - - - - - - - - - B B
> 18] rormnzFL 0.01me/IA T B - E E - B - - - B - - - - - -
M 19|k FL 0.01mg/I1LL F - - - - - - - - - - - - - - - -
H 20[~= B 0.01mg/ILL T - - - - - - - - - - - - - - -
| 21|t me 0.6me/ILL T - - - - 0.11 - - - - - - - 0.11 0.11 0.11 1
22| v ki 0.02mg/1LL — - — — 0.00 1 A7 — - — — — — - 0.001 4|  0.001 K4 0.001 A 1
23| 7aadLa 0.06me/1ILL T — - = = 0.017 = - - - = - - 0.017 0.017 0.017 1
24Py fEg 0.03me/ILLF - - - - 0.005 - - - - - - - 0.005 0.005 0.005 1
25| 7 aEun AN 0.1mg/1L T - = - - 0.001 - = = = - = = 0.001 0.001 0.001 1
VH 7RI A R ) 26| AFEEL 0.01mg/ILL T — B — — 0.00 15 — - — - — - - 0.001#| 0.0015#| 0.0015k%% 1
27FARY N A& 0.1mg/1LL T - = - - 0.024 - = - = - = = 0.024 0.024 0.024 1
28|~ o g 0.03mg/1L4 F - - = - 0.013 - - - - = - - 0.013 0.013 0.013 1
29| 7 aEVIan AN 0.03mg/1L4 - - = = 0.006 = - - - = - - 0.006 0.006 0.006 1
30| 7 mEAR/L L 0.09mg/I1LL F - - - - 0.00 1 Al - - - - - - - 0.001Aii| 0.001A4i| 0.001Ajili 1
31|AVLLT LT ER 0.08mg/1LL T — — — — 0.002 - - - - - = = 0.002 0.002 0.002 1
32[diEn e 2 DL EY) 1.0me/ILLF - - - - 0.0 1547 - - - - - - - 0.015kKi#|  0.015Ki#|  0.01Kim 1
33| TNI=V LK OZDEY 0.2mg/1LL T - - - - 0.02 - - - - - - - 0.02 0.02 0.02 1
7k IR 34|18k K DL EY 0.3mg/1LL T — - — — 0.03 A — - — — — — - 0.03 Al 0.03 A7l 0.03 Al 1
S H 35|40% O AL AW Lome/ I T _ _ _ _ 0.01 A _ - - — — - — 0.01A4M|  0.01AYwM| 0.01 ik 1
7K 36| NIV AR PZDLEY 200mg/1LL - - - - - - - - - - - - - - - -
»n 37| = B R OZEDALEY 0.05mg/ILL F - - - - 0.005 i - - - - - - - 0.005A4%ii| 0.0054%i| 0.005Ajili 1
A [zofh 38|HifkW A A 200me/ILL T - 8.4 - - 8.4 - - 8.5 - - 8.5 - 8.5 8.4 8.5 4
I [ T B9[S T~ R T ()| 300me/niE | - - - - - - - - - - - - - - - -
= zom MES S I 500meg/15L F - - - - - - - - - - - - - - - -
o 41 | s P EA v - - - - - - - - - - - - - - -
IR 42|V = A A 0.00001mg/1E1 F - - - - 0.00000 1 Aif - - - - - - - 0.000001 il [ 0.000001 it | 0.000001 Ajii|  —
Py 43[2 = AF A VR LA — L 0.00001me/IEL T - - - - 0.00000 1 A - - - - = - - 0.000001 i | 0.000001 7| 0.00000 1 A 1
B3] A4 | FEA A B IE Al 0.02mg/ILL T - - - - - - - - - - - - - - - -
JH 45| 7 = /— )VFH 0.005mg/1L4 T - = - - = - = = = - = = = - - -
N 46| B (AR TOC) 3meg/ILL T - 0.3 - - 0.9 - - 0.8 - - 0.4 - 0.9 0.3 0.6 4
% 47|pH 5.8~8.6 — 7.4 = = 7.6 = - 7.5 - = 7.4 - 7.6 7.4 7.5 4
H 48|k BTN - SR - - L - - SRl - - FTeL - FE L FETRL FE L 4
B 2o 49| A& B TARLIE - HTeL - - FETRL - - LYY - - FTeL - FE L FETRL FE L 4
50| o) SR - 0.5l - - 0.5 Al - - 0.5 Al - - 0.5l - 0.5 Al 0.5 Al 0.5 Al 4
51| 2K - 0.1 A - - 0.1 A - - 0.1 Al - - 0.1 A5 - 0.1 Al 0.1 K 0.1 Al 4
e GREAYE T 0.184 | - 0.41 - - 0.41 - - 0.40 - - 0.44 - 0.44 0.40 0.42 4




FRAEIE AR iR R B AR R (51T H)

T H JLHEfE 4H19H| 5H10H 6HT7H TH5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H| 1HI10H 2HTH SHTH| s ey R I I C1E
i — - 12.5 - - 23.8 - - 15.0 - - 5.1 - 23.8 5.1 14.1 4
ZKIR — - 10.4 - - 21.8 - - 14.9 - - 4.7 - 21.8 4.7 13.0 4
o 1) — B 100/ 1mlLl F - 0 B - 0 — _ 0 — _ 0 — 0 0 0 2
2| KB ftisn LR ML Mt L7 L7 L2 ML ML 4
[ HRIV LR OEDILE Y 0.003mg/151F - - - - - — — - - - - - - - - -
Ak e DALY 0.0005mi/ 1L T* - - - - - - - - - - - - - - - -
TR, 5| L R OEDILEY) 0.01mg/I1LLF - - - - - - - - - - - - - - -
6l R O DAL B 0.01mg/ILL T - - - - 0.00 1 A - - - - - - - 0.001 A 0.0011H| 0.001KWw| 1
TeE L OZDILEY 0.01mg/I1LL F - - - - - - - - - - - - - - - -
8|l 7 v 2 e N DAL 0.02mg/1L4 F - - - - 0.00244il§ - - - - - - - 0.0025Kii| 0.0025K7Hi| 0.0025K 1
9| i AP RE 22 3% 0.04mg/1LL F - - - - 0.004 A i - - - - - - - 0.004 4| 0.0045K1M5|  0.004AH 1
ST 10 *‘/7"/1{1%/(%-‘/‘&(){1.4,{1)[5/7‘/ 0.01mg/ILL T - - - - 0.00 1At - - - - - - - 0.00 1| 0.0015K7Mi| 0.00 1Al 1
i‘éﬁ%#ﬁﬂén&i% 11| ASPAREEs 38 M OVl e AR 2 3 10mg/12L T = - - - = - - - - - - - = - - -
e 12| 7 v HE R PZDIEEY 0.8mg/12L F - - - - - - - - - - - - - - - -
e 13[RVFE K OZEDILEY 1.0mg/1LL - - - - - - - - - - - - - - - -
Iz 14| DUEfk iR 3 0.002mg/124F - - - - - - - - - - - - - - -
B8 151,47 A9 0.05mg/1LL - - - - - - - - - - - - - - -
i;ﬁ 16[z*-1.2-vrmm=FL o RUhTr 2-1,2-P7mnxF L 0.04mg/1LL T — — — — — _ _ _ _ _ _ _ _ _ _ —
I |EremE 17[romrz 0.02mg/ILLF - - - - - - - - - - - - - - - -
e 18| rSrmm=FL 0.01meg/IEAF - E E B - - E - - B - E - - -
5 NISEEEEE 0.0 me/ I _ _ _ _ _ _ _ _ _ _ _ _ _ - - N
R 20|~ 0.01meg/1LLF — — — — — — — — — — — — - — — -
21 |HEsE e 0.6mg/ILL T - - - - 0.11 - - - - - - - 0.11 0.11 0.11 1
22| kg 0.02mg/1LL F - - - - 0.00 1 A - - - - - - = 0.001 K| 0.001AKji#[ 0.00 1A 1
23| 7aadL 0.06mg/1LL T — - = = 0.017 - - = - = = - 0.017 0.017 0.017 1
24| 7 FEE 0.03mg/1LL F - - - - 0.005 - - - - - - - 0.005 0.005 0.005 1
25|V T e O AR 0.1mg/ILLF - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
VH 72 Bl A= ) 26| BRER 0.01mg/ILA T — — B B 0.00 1547 - - - - - - - 0.001K3#| 0.0015k5| 0.00155 1
27[fBRY N A& 0.1mg/ILLF - - - - 0.024 - - - - - - - 0.024 0.024 0.024 1
28|~ R 0.03me/1L4 F - - - - 0.013 - - - - - - - 0.013 0.013 0.013 1
29| 7 e /au AL 0.03mg/1LL F - - - - 0.006 - - - - - - - 0.006 0.006 0.006 1
30[ 7 eEALL 0.09mg/I1LL F - - - - 0.00 1 AHiii - - - - - - - 0.001 K| 0.001A7[ 0.001 4w 1
31L|AVL LT LT R 0.08meg/1LL F - - - - 0.001 - - - - - - - 0.001 0.001 0.001 1
32| B DL EY 1.0mg/1L4 F - - - - 0.0 1 AK:Fii - = - - - - - 0.01A4m]  0.01A&%[ 0.014Km 1
33| TNR=V LR PZE DG 0.2me/1LL - - - - 0.02 - - - - - - - 0.02 0.02 0.02] 1
& |sepemer 348k M PE DL EY 0.3meg/ILA T - - - - 0.03 4% - - - - - - - 0.03%%ii|  0.03%Ki|  0.03AKd[ 1
i |” 35|} O DAL B 1Lome/IEL T - - - - 0.01 il - - - - - - - 0.0154H|  0.0144| 0.01AMm| 1
7K 36| T NIV AR NZDILEWY 200meg/1LL - - - - - - - - - - - - - - -
R 3= T R OEDILEY 0.05mg/1L - - - - 0.005 A1 - - - - - - - 0.0054jii | 0.005Kii| 0.0054ji 1
A [Zofh 38| A A A 200me/18L F - 8.4 - - 8.5 - - 8.5 - - 8.4 - 8.5 8.4 8.5| 4
7 [ 39T sy B~y s R () | s00me/ | - - - - - - - - - - - - - - - -
B 10| EERY 500me/1LL T - - - - - - - - - - - - - - — B
;ﬁ‘ L[t A R A 0. 2ma/ LT B - - - B - - - B - - - B - -
% 42| = A A 0.00001mg/1L F — - - - 0.00000 1 Al — - - — - - — 0.000001 i | 0.000001 il | 0.00000 1 Ajif 1
[ A e 43|12 = AFNAVHRILFEA —)L 0.00001me/ 124 F - - - - 0.000001 Ajifi = - - - - - - 0.000001 A [ 0.000001 Aifi| 0.00000 1 A 1
53] 44| FEA A T iE A 0.02mg/18L - - - - - - - - - - - - - - -
P8 45|77 = ) — )LFH 0.005me/1L.F - - - - - - _ _ _ _ _ _ _ _ —
kN 46 [ (AR SR TOC) 3me/ILL F - 0.3 - - 0.9 - - 0.8 — - 0.4 - 0.9 0.3 0.6 4
&) 47|pH 5.8~8.6 - 7.4 - - 7.6 - - 7.5 - - 7.5 - 7.6 7.4 7.5 4
H 48[mk BTN - PR - - L - - L - - L - SRl SR FETRL 4
B lzom 49| R TR - Rl - - L - - TR - - FLE7RL - Rzl Eusel| Rl 4
50| ) GESL - 0.5 A1 - - 0.5 Al — - 0.5l - - 0.5 A - 0.5 Al 0.5l 0. 54l 4
51 |)E 2K — 0.1 A - - 0.1 At - - 0. 1A - - 0.1 Al = 0.1 A 0. 1A 0. 1A 4
A FRER IR 0.104 1 - 0.41 - - 0.42 - - 0.36 - - 0.45 - 0.45 0.36 0.41 4




BRIAFEEE b BT R K B AR R (51T )

AT H S E 4H19H| 5H10H 6HT7H TH5H 8H2H 9H6H| 10H4H| 11H8H| 12H6H| 1HI10H 2H7TH SHTH| s A RO NI CIEES
Al — — 13.4 — — 25.7 — — 15.2 — - 5.0 — 25.7 5 14.8 4
Kl — - 11.2 - - 22.5 - - 15.7 - - 6.0 - 22.5 6.0 13.9 4
A 1| — A 100/ 1mILLF - 0 - - 0 - - 0 - - 0 - 0 0 0 4
2| KIG L HHL 2 L Za0 MLz L MLz L] Bz 4
3| HRIV LK OZEDILEY 0.003me/1LL T - - - - - - - - - - — -
4KERK X ZF L EW 0.0005mg/15L F - — — — - - - - — — _ _
LR, 5| L R OZFEDILEY 0.01mg/1LL - - - - - - - - - - - - - - - -
6 fa}g%gﬂg{?\/ﬁ@ 0.01mg/1LL F - - - - 0.001 A - - - - - - - 0.001K4m| 0.001 K| 0.001 A 1
=330 xd 2l %5 0.01mg/1ELF - - - - - - - - - - - - - - - -
8| Al v K O EDILE 0.02mg/1LLF - - - - 0.002 K1 - - - - - - - 0.002K4H| 0.0025K#|  0.0024 1
e et 0.04mg/1LLF — - - - 0.004 A - - - - - - - 0.0044H | 0.0045K#|  0.004 A1 1
ST 10 VTVjt%%ﬂ“{&Ulﬁ{tV?y 0.01mg/1L4 F - - - = 0.001 A - - - - - = - 0.00 I KRii[ 0.001Kii| 0.001 A 1
?ﬁ%ﬁui\ﬁﬁ% 11| AEReRE 2 38 M OVl Al A e 22 3 10me/1Lh - - - - - - - - - - - - - - - -
o 12|7 v HE /R OZEDILE Y 0.8mg/ILL T - - - - - - - - - - - - - - - -
B 13|V FE K OZALEY 1.0mg/ILAF - - - - - - - - - - - - - - - -
- 14| DU kiR 3% 0.002mg/ 154 F - - - - - - - - - - - -
124 15|1,47 AP 0.05mg/ 1L T - - - - - - - - - - - -
L 16 |2 12-v7mmxrre ko 2-1,2-vrmR=F L 0.04mg/1LLF - — — - - - — — - — - -
L7z 17|27 Ay 0.02mg/ 1L T - - - — - - - - - - - - = - - -
I”E 18[5r5rmrFL 0.01me/1LL T - B B B - - - - B - - B - B - B
- 19K 7T 0.01mg/1LF - = - - = = - = = - - = - - - -
R 20~ 0.01mg/1LL T - — - - — — - — — — - —
A]‘ﬁi’?@z 0.6mg/1LL T — = - - 0.11 = - - = - - - 0.11 0.11 0.11 1
PPAA=1=1 197 0.02mg/1LL F — — — — 0.001 A - - - - - — — 0.00 14|  0.001K4i#i|  0.00 1 A¥wi 1
23 9‘r:fn:rrj</l¢\ 0.06mg/1L4 F - — — — 0.019 — — — — — — — 0.019 0.019 0.019 1
24 ?7}:m?§tﬂg~ 0.03meg/1LA T - - - - 0.004 - - - - - - - 0.004 0.004 0.004 1
s ‘ 25| T aEran AR 0.1mg/ILLF - = - - 0.001 = - = = = - = 0.001 0.001 0.001 1
R AR 26| 2 FEEE 0.01mg/1LL T — B — - 0.001 A - - - - — - - 0.0015| 0.0015k5%| 0.0015k%% 1
27 AR N RZ 0.1mg/1LL T — = - - 0.026 = - - = - - - 0.026 0.026 0.026 1
28 w%zmﬁ‘ﬁﬁfz 0.03mg/124 F - - - - 0.013 - - - - - - - 0.013 0.013 0.013 1
29 7}1%:/“&:/:/;(57‘/ 0.03mg/1LA F — — — — 0.006 — — — — — — — 0.006 0.006 0.006 1
30[FaEduLL 0.09mg/1L4 F - - - - 0.00 1 il - - - - - - - 0.001AK4m| 0.001Aii| 0.001 A 1
31 nu\(pAT/u:ﬂ;F 0.08mg/1LL F - - - - 0.001 Al - - - - - - - 0.001 7| 0.00 1 Aifi| 0.00 1 AT 1
32 ﬂﬂw’;}&g%gmﬁ%m/\% 1.0mg/ILLF - - - - 0.01 il - - - - - - - 0.0154&0| 0.0 0.0k 1
33| TN I=T AR NEDIES 0.2mg/1LLF - - — — 0.02 - - - - — — - 0.02 0.02 0.02 1
K MR R 34 ﬂ&oﬁ%a)ﬂgé}m 0.3mg/1LL T — — — — 0.03 A - - - — — — — 0.03 7 0.03 A 0.03 A7l 1
5% 22 i‘mﬁgfggz\%{tA% 1.0mg/1LLF — — - - 0.01 A - - - - - - - 0.0 1AM 0.01AJMi|  0.01 A 1
7 g ~ S N Db S 200mg/1LL T — — — — — — — — — — — — - - - -
73 37| = H B OZFDILEW 0.05mg/1LL T - — - - 0.005 A3 - - - - - - — 0.0054mi| 0.0055K7ii|  0.0054 1
GRERS 38 Mk A A 200meg/1LL - 8.4 - - 8.6 - - 8.4 - - 8.6 - 8.6 8.4 8.5 4
”t TR e 3Y| AN Tl = TR L5 (L) | 300me/ILLF - - - - - - - - - - - - - - - -
T |Eof 40 [R5 IR 500me/1LL F - - - - - - - - - - - - - - - -
; A1[FE A A B s TE Al 0.2mg/1LL T = = = = = = = = = = = = - - - -
s 42[F A A i 0.00001me /12 F - - - - 0.00000 1 A - - - - - - - 0.000001 4| 0.000001 i [ 0.000001 A3 1
[ Pt ii ;;ri?‘/gfyfggﬁﬂ-——/v 0.00001me/ 12 F - - - - 0.00000 1 4 - - - - - - - 0.000001 4| 0.000001 4| 0.000001 A 1
[E5] A ST Al 0.02mg/12L T — — — — = = — — = = — = - = - =
B8 45|77 =/ — VFE 0.005me/1L0 F - - - - - - - _ _ _ _ _ _ — _ -
;a“ 46 | F Y (AR SR : TOC) 3me/ILL F = 0.3 — - 0.9 - — 0.8 - - 0.4 - 0.9 0.3 0.6 4
I% 47(pH 5.8~8.6 - : 7.5 = — 7.6 — — 7.5 — — 7.5 — 7.6 7.5 7.5 4
El\ : 48|k NS - Rl - - FHE7RL - - Rl - - Rl - AL REARL[ RERL 4
Z oAt 49| R i - AL - - AL - - L - - L - LY L R 4
50 }ég - 0.5 Al - - 0.5 Al - - 0.5 Al - - 0.5t - 0.5 0.5 A5 0.5 4
51 [V - 0. 1 Al - - 0. 1 A - - 0. 1Al - - 0. 1Al - 0. 1A 0. 1 A 0. 1A 4
A FRERYE - 0.41 - - 0.39 - - 0.36 - - 0.41 - 0.41 0.36 0.39 4




A FNAE S

FH A8 LA it K AR AR 2R (512 H )

A H SV 4H19A| 5H10A 6H7H TH5H 8H2H 9H6H| 10H4H| 11A8H| 12H6H| 1J10H 2A7H SHTH| s el |
SR — 14.5 18.6 18.6 28.4 29.7 27.6 23.6 14.0 9.1 4.4 7.1 10.7 29.7 4.4 17.2 12
7Kl — 9.4 11.6 16.7 19.1 22.8 22.7 21.8 15.8 12.6 6.4 5.9 6.7 22.8 5.9 14.3] 12
WA 1| i 100/ 1mILL F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o 12
2[R pisnaoce |ORRHLZRW] BHLZRV] BHLZRV] BHLZeV ] BELZeWy) B LZeny] BEHLZeny] Bz B Ze0] B 7] Bl 7] B LZeun] Bl Zzeun] BHLZevn] Bl Zewny) 12
3[Ry AR DAY 0.003me/ 151 T - - - - - - - - - - - - - - - -
AkERE Oz Dk A 0.0005ms/151 T - - - - - - - - - - - - - - - -
o 5| L R OZEDILEY 0.01mg/1LLF - - - - - - - - - - - - - - - -
6|En Kk T DAL G 0.01mg/1L T - 0.00 1 #iif§ - - 0.00 1Al - - 0.00 1Al - - 0.00 1Al - 0.0015%#[ 0.0014| 0.001MW| 4
T|EE R ZEDILEY 0.0 1mg/1L F - - - - - - - - - - - - - - -
8| At v i B O L&Y 0.02mg/1LL - 0.0027il - - 0.00277il - - 0.0027il - - 0.0027il - 0.00273#|  0.00253| 0.0025K5 4
o| di e pE 22 35 0.04mg/1L F - 0.004 it - - 0.004 A - - 0.004 it - - 0.004 it - 0.004A7i| 0.0045i| 0.004 A 4
P 10 :/Ty{t%/rj—y&(jm{!gy?y 0.01meg/1LL - 0.001 A - - 0.001 A - - 0.00 1 A - - 0.001 A - 0.001Am| 0.001K4| 0.001 i 4
ﬂﬁﬁgljﬁgg—j&% 11| B TE 22 3% M OV AR AR 22 57 10mg/ILLF
e 12| 7V K OZEDILEY 0.8meg/1LL - - - - - - - - - - - - - - - -
o 13| R HE KR PZDILEY 1.0mg/18L T
A 14| UL 0.002me/1LA F - - B - - - - _ _ — - - — , , B
[E5] 15|1,4 A% 0.05mg/1LL F - - — - - - - — - - - - - - - -
Lﬁ 16 |p#-12-v7ma=Frr RURIY 2-1,2-V7RTF LY 0.04mg/1LL F — — - — _ _ _ _ _ _ _ _ _ — — —
7 |ErmE 17| rmaRrzy 0.02me/1LL T - - - - - - - - - - - - - - - -
é 18|75 /gL 0.01me/1LL F
H 19|hN)r7eaxcgL 0.01mg/1LL F - - - - - - - - - - - - - - - -
H 20|~ 0.01mg/1LL F - - - - - - - - - - - - - - - -
21 | Hig 0.6mg/1LL F - 0.04 - 0.10 - - 0.07 - - 0.05 - 0.10 0.04 0.07 4
22| 7 a kR 0.02mg/1L4 F — 0.001 AT - - 0.001 AT - - 0.001 AT - - 0.001 AT - 0.001A7ii|  0.001 A7 0.001 AT 4
23|7eadL s 0.06mg/1L4 F - 0.003 - 0.009 0.018 0.019 0.020 0.012 - - 0.003 - 0.020 0.003 0.012 7
24| 7 v ik 0.03mg/1P4 — 0.002 — — 0.004 - - 0.004 - - 0.002 - 0.004 0.002 0.003 4
25| T mEsum AKX 0.1mg/1LL - 0.001 - 0.001 0.001 0.001 0.002 0.002 = - 0.002 - 0.002 0.001 0.001 7
VH 72 Bl A= ) 26| 5.3k 0.01meg/1L F — 0.001 A7 - - 0.001 A7 - - 0.001 A7 - - 0.001 A7 - 0.0014| 0.001k3%| 0.0015%5 4
27~ AZ 0.1mg/1LLF - 0.006 - 0.015 0.025 0.027 0.030 0.020 = - 0.008 - 0.030 0.006 0.019 7
28| k7w afERE 0.03mg/1L4 F - 0.001 A — - 0.013 - - 0.008 — - 0.002 - 0.013]0.001 Al 0.006 4
29[F ey ZunAx 0.03mg/12L F - 0.002 - 0.005 0.006 0.007 0.008 0.006 = - 0.003 - 0.008 0.002 0.005 7
30| 7 eEAgLL 0.09mg/1LL F - 0.001 AT - 0.001 47| 0.001AViE| 0.001AJii] 0.001A4ii| 0.001 Al - - 0.001 AT - 0.001 47| 0.001AJiE|  0.001 AT 7
31|ALLT LT R 0.08meg/1LL F - 0.00 1 A - - 0.001 - - 0.001 - - 0.00 1 A - 0.001]| 0.001i#| 0.001 A 4
32[Hign X N ZFDALEW 1.0meg/18L F - 0.01 A - - 0.01 A = - 0.0 1 A - - 0.01 A = 0.0 4| 0.0 0.014 4
33| TN I=T L EDALEW 0.2meg/1LL - 0.0 1 A - — 0.02 - - 0.01 A = — 0.01 A - 0.02] 0.01AJm| 0.015Kiik 4
& |sepeme 34| R ZDILEY 0.3mg/1LL F - 0.03 A - - 0.03 A3 - - 0.03 A5 - - 0.03 A5 - 0.0347m|  0.034m|  0.034 4
| 35|86 K OFE D LAY 1.0mg/1LL F - 0.01 A - - 0.01 A — - 0.01 A - - 0.01 A - 0.0 0.014m]  0.014 4
& 36 F UL K O DILE Y 200me/ILLF - - - - - - - - - - - - - - - —
» 37|~ W DAY 0.05mg/1L4 F - 0.0054%if§ - - 0.0054i§ - - 0.0054i§ - - 0.0054i§ - 0.005%ii| 0.00554ii| 0.0055K7m| 4
G E 38| b A A 200meg/1LL 8.7 8.5 7.7 8.4 8.6 8.6 8.1 8.5 8.4 7.9 8.4 9.0 9.0 7.7 8.4 12
’J e 39| T L= SR L (EJE) | 300me/ILF - - - - - - - - - - - - - - - -
ot 40| ZER TR R 500mag/1LL T - - - - - - - - - - - - - - - -
i A1 |BEA A FmEEEA] 0.2meg/1LL - - - - - - - - - - - - - - - -
47% 42 “/:x:ﬁ‘X‘:/ 0.00001me/124 T - - - 0.000001 A | 0.000001 Aiiii| 0.000001 AHifi| 0.000001 A - - - - - 0.000001 i | 0.000001 il | 0.000001 A:Fidi 4
- AR 432 — AF LA VIRV F A — )L 0.00001mg/1EL T — - - 0.000001 ] 0.000001 i 0.000001 54ii| 0.00000 1 A — — — — — 0.000001 51 | 0.000001 51ii | 0.000001 i 4
Bg o 44| FEA A R ETEPEA] 0.02meg/1LL F - - - - - - - - - - - - - - - -
pLE:A 45| 7 =/ —)VJH 0.005mg/1LL F - - - - - - _ _ _ _ _ _ _ _ _ _
kR 46| (AR RS TOC) 3meg/ILL T 0.3 0.3 0.5 0.6 0.9 0.9 0.9 0.8 0.6 0.4 0.4 0.4 0.9 0.3 0.6] 12
&) 47|pH 5.8~8.6 7.4 7.5 7.6 7.6 7.6 7.6 7.6 7.6 7.5 7.4 7.5 7.4 7.6 7.4 7.5 12
H 48[5k E RS A Bl HERL B BERL FERL FERL HERL B FEIRL FERL HERL R HERL HERL HEapL 12
B |z o 49[ R S TR REIRL RETRL RERL RERL REIRL RERL RERL RERL IR REIRL RERL R RERL RERL HEapL| 12
50| 5 0.5 A 0.5 A5 0.5 AT 0.5 A 0.5 A1 0.5 A1 0.5 A1 0.5 A7 0.5 A1 0.5 A 0.5 A ¥ 0.5 A ¥ 0.5 A1 0.5 A ¥ 05K 12
51| 2K 0.1 Ak 0.1 Kl 0.1 Kl 0.1 K ¥ 0.1 K15 0.1 K45 0.1 K7 0.1 K ¥ 0.1 K15 0.1 K45 0.1 K45 0.13&‘2%" 0.1 K ¥t 0.1 K ¥ 0.1Kdm| 12
A FRRAHE R 0100 1 0.41 0.41 0.45 0.35 0.39 0.37 0.38 0.36 0.40 0.40 0.44 0.43|| 0.45 0.35 0.40 12




